
MATHS

BOOKS - DEEPTI MATHS (TELUGU ENGLISH)

QUADRATIC EXPRESSIONS

SOLVED EXAMPLES

1. The roots of the equation  is

A. 

B. 

C. 

D. 

Answer: C

W t h Vid S l ti

6√5x2 − 9x − 3√5 = 0

√5/2√5/5

−√5/2√5/5

√5/2, − √5/5

−√5/2, − √5/5

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_nkzoUCCmZjbF


Watch Video Solution

2. IF the product of the roots of the equation

 is 17 then K=

A. 5

B. 3

C. 2

D. 9

Answer: B

Watch Video Solution

x2 − 3kx + 2e2 log k − 1 = 0

3. IF the different between the roots of  is 2, then the

relation between p , and q is

A. 

x2 − px + q = 0

p = 4(q + 1)2

https://dl.doubtnut.com/l/_nkzoUCCmZjbF
https://dl.doubtnut.com/l/_WQXxXWdwGEGj
https://dl.doubtnut.com/l/_9bwiRO0G5d8w


B. 

C. 

D. 

Answer: C

Watch Video Solution

p2 = (q + 1)

p2 = 4(q + 1)

p = 4(q + 1)

4. if the equation  has equal roots

then p=

A. 0

B. 2

C. 

D. none

Answer: C

Watch Video Solution

(3x)2 + (27 × 31 / p − 15)x + 4 = 0

−1/2

https://dl.doubtnut.com/l/_9bwiRO0G5d8w
https://dl.doubtnut.com/l/_xooXH4Vy76SU


5. IF  is a root of the equation  then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2 + √3 x2 + px + q = 0

p = − 6, q = 13

p = − 6, q = 14

p = − 4, q = 1

p = − 8, q = 25

6. The number of solutions of the equation  is

A. 4

B. 1

C. 3

D. 2

∣∣x
2∣∣ − 3|x| + 2 = 0

https://dl.doubtnut.com/l/_xooXH4Vy76SU
https://dl.doubtnut.com/l/_p2pBLToeOXUi
https://dl.doubtnut.com/l/_UIrslp0TekVi


Answer: A

Watch Video Solution

7. Solve 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4x− 1 − 3.2x− 1 + 2 = 0

{1, 2}

{1, − 1}

{1, 5}

{4, − 1}

8. The minimum value of  is

A. 32

3x2 + 2x + 11

https://dl.doubtnut.com/l/_UIrslp0TekVi
https://dl.doubtnut.com/l/_VqozcgEeOZkV
https://dl.doubtnut.com/l/_LfueWony5sR8


B. 

C. 2

D. 3

Answer: B

Watch Video Solution

32/3

9. The solution set of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 − 8x + 15 > 0

( − 1, 4)

( − ∞, − 3] ∪ [7, ∞)

( − ∞, 3) ∪ , (5, ∞)

[ − 4, 1]

https://dl.doubtnut.com/l/_LfueWony5sR8
https://dl.doubtnut.com/l/_OkalfGZoET7w
https://dl.doubtnut.com/l/_vrvn3ribjhNp


10. The range of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 − 2x + 3

x2 − 2x − 8

( − ∞, 0] ∪ (1, ∞)

[1/2, 2]

( − ∞, − 2/9] ∪ (1, ∞)

( − ∞, − 6] ∪ [ − 2, ∞)

11. IF p,q,  { 1,2,3.4} the number of equation of the form

 having real roots is

A. 

B. 9

C. 7

D. 8

∈

px2 + qx + 1 = 0

15

https://dl.doubtnut.com/l/_vrvn3ribjhNp
https://dl.doubtnut.com/l/_CCsmGZD0fUa6


Answer: C

Watch Video Solution

12. The set of values of p for which roots of the equation

 are of opposite sign is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3x2 + 2x + p(p − 1) = 0

(0, ∞)

( − ∞, 0)

(0, 1)

(1, ∞)

13. IF  be the roots of the equation  where

 , then the minimum value of 

α and β x2 + px − = 0
1

2p2

p ∈ R α4 + β4 =

https://dl.doubtnut.com/l/_CCsmGZD0fUa6
https://dl.doubtnut.com/l/_MD7P3SXt753z
https://dl.doubtnut.com/l/_gfrCqqITK3g7


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2 + √2

2

2√2

2 − √2

14. Sum of the non real roots of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(X2 + x − 2)(x2 + x − 3) = 12

−1

1

−6

6

https://dl.doubtnut.com/l/_gfrCqqITK3g7
https://dl.doubtnut.com/l/_KzxyYxYUmX0n


15. if  and  have common roots / roots

and and a,b,c  N , then the minimum value of  is

A. 9

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + 3x + 5 = 0 ax2 + bx + c = 0

∈ a + b + c

−9

3

−3

16. if  and  then  has a root in the

interval

A. 

B. 

c > 0 4a + c < 2b ax2 − bx + c = 0

(2, 4)

(0, 2)

https://dl.doubtnut.com/l/_KzxyYxYUmX0n
https://dl.doubtnut.com/l/_f5qoShx1uFBt
https://dl.doubtnut.com/l/_p8RivZjOa0Tz


C. 

D. 

Answer: B

Watch Video Solution

(0, 1)

( − 2, 0)

17. If a=c=4b , then the roots of  are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ax2 + 4bx + c = 0

1,
c

a

−1,
c

a

−1, −
c

a

1, −
c

a

https://dl.doubtnut.com/l/_p8RivZjOa0Tz
https://dl.doubtnut.com/l/_vWjrnSZtkJdB


18. IF the equation  have a

common root , where a,b,c are the length of the sides of a  , then 

C=

A. 1

B. 

C. 

D. 

Answer: D

Watch Video Solution

ax2 + 2bx + 3c = 0 and 3x2 + 8x + 15 = 0

ΔABC

sin2 A + sin2 B + sin2

3

2

√2

2

19. IF both the roots of equation  lie in the

interval  , then sum of the integral of a is

A. 0

B. 2

x2 − 2ax + a2 − 1 = 0

( − 3, 4)

https://dl.doubtnut.com/l/_ksnCQjq7SEHn
https://dl.doubtnut.com/l/_kNSXBjSWA0ON


EXERCISE 1A (QUADRATIC EQUATIONS)

C. 4

D. 1

Answer: A

Watch Video Solution

1. If a, b are the roots of  then 

A. 1

B. 2

C. 

D. 

Answer: C

Watch Video Solution

x2 + x + 1 = 0 a2 + b2 =

−1

4

https://dl.doubtnut.com/l/_kNSXBjSWA0ON
https://dl.doubtnut.com/l/_dIf7oi5T7aZ6


2. IF  are the roots of  then  =

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

α, β x2 − x + 2 = 0 α2β + αβ2

5

3

−2

2

3. If  are the roots of  then 

A. 

B. 

C. 

D. 

α, β 3x2 − 5x + 7 = 0 α3 + β3 =

90/7

−120/17

170/23

−190/27

https://dl.doubtnut.com/l/_dIf7oi5T7aZ6
https://dl.doubtnut.com/l/_jmue7hsKTSkI
https://dl.doubtnut.com/l/_8spZSbOaHDc3


Answer: D

Watch Video Solution

4. IF  are the roots of  then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

α, β ax2 + bx + c = 0 α2 + β2 =

(b2 − 2ac)

a2

−
b

c

(b2 − 2ac)

c2

(b2 − 2ac)

ac

5. If  are the roots of  then 

A. 

α, β ax2 + bx + c = 0 αβ2 + α2β + αβ =

ac − bc

a2

https://dl.doubtnut.com/l/_8spZSbOaHDc3
https://dl.doubtnut.com/l/_sIsCnInLcoWI
https://dl.doubtnut.com/l/_VOPBk4oE2IxV


B. 

C. 

D. 

Answer: A

Watch Video Solution

bc − ac

a2

ac − bc

b2

bc − ac

b2

6. If  are the roots of  then 

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

α, β x2 + x + 1 = 0 α/β + β/α =

−1

1

2

https://dl.doubtnut.com/l/_VOPBk4oE2IxV
https://dl.doubtnut.com/l/_AqErK9J2q2Pv
https://dl.doubtnut.com/l/_H0ITOSS1BPLS


7. IF  are the roots of  then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

α, β ax2 + bx + c = 0 + =
1

α2

1

β2

1

−1

2

p/q − 2

8. IF  are the roots of  then 

A. 

B. 

C. 

D. 

α, β ax2 + bx + c = 0 + =
1

α2

1

β2

(b2 − 2ac)

a2

−
b

c

(b2 − 2ac)

c2

(b2 − 2ac)

ac

https://dl.doubtnut.com/l/_H0ITOSS1BPLS
https://dl.doubtnut.com/l/_gGZ2E3kShBFb


Answer: C

Watch Video Solution

9. IF  are the roots of  then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

α, β ax2 + bx + c = 0 α3 + β3 =

3abc − b3

a3

−
b

c

(b2 − 2ac)

c2

(b2 − 2ac)

ac

10. IF  are the roots of  then 

A. 

α, β ax2 + bx + c = 0 +
α2

β

β2

α

3abc − b3

a3

https://dl.doubtnut.com/l/_gGZ2E3kShBFb
https://dl.doubtnut.com/l/_BjkHsrcCN525
https://dl.doubtnut.com/l/_KIbYvXMEPFFX


B. 

C. 

D. 

Answer: B

Watch Video Solution

3abc − b3

a2c

b2 − 2ac

c2

b2 − 2ac
ac

11. IF  are the roots of  then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

α, β ax2 + bx + c = 0 + =
1

α3

1

β3

3abc − b3

a3

3abc − b3

a2c

3abc − b3

c3

b2 − 2ac

ac

https://dl.doubtnut.com/l/_KIbYvXMEPFFX
https://dl.doubtnut.com/l/_tYFbi4cz5g7h
https://dl.doubtnut.com/l/_LzKAmu6p8IYP


12. If  are the roots of  then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

α, β ax2 + bx + c = 0 α5β8 + αβ5 =

c5(3abc − b3)

a8

c3(3abc − b3)

a3

a2(3abc − b3)

c3

a3(3abc − b3)

c3

13. IF  are the roots of  then 

A. 

B. 

C. 

D. 

α, β ax2 + bx + c = 0 =
α2 + β2

α− 2 + β − 2

c2

a2

3abc − b3

a2c

3abc − b3

c3

b2 − 2ac
ac

https://dl.doubtnut.com/l/_LzKAmu6p8IYP
https://dl.doubtnut.com/l/_tRPs6mn5aZoT


Answer: A

Watch Video Solution

14. IF  are the roots of  then =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

α, β ax2 + bx + c = 0
α3 + β3

α− 3 + β − 3

c2

d2

c3

a3

3abc − b3

c3

b2 − 2ac
ac

15. IF  are the roots of  then =

A. 

α, β ax2 + bx + c = 0 ( − )
2

α

β

β

α

b2(b2 − 4ac)

c2a2

https://dl.doubtnut.com/l/_tRPs6mn5aZoT
https://dl.doubtnut.com/l/_MJ0eGkiLX09A
https://dl.doubtnut.com/l/_MUQrYzpqohcm


B. 

C. 

D. 

Answer: A

Watch Video Solution

b2(b2 − 4ac)

ca3

b2(b2 − 4ac)

a4

b2(b2 − 4ac)

c4

16. IF  are the roots of  then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

α, β ax2 + bx + c = 0 ( − )
2

=
1

α2

1

β2

b2(b2 − 4ac)

c2a2

b2(b2 − 4ac)

ca3

b2(b2 − 4ac)

a4

b2(b2 − 4ac)

c4

https://dl.doubtnut.com/l/_MUQrYzpqohcm
https://dl.doubtnut.com/l/_iJjh5oJOgpsS


17. IF  are the roots of  then

=

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

α, β ax2 + bx + c = 0

(aα + b) − 2 + (aβ + b) − 2

b2 − 2ac

a4

b2 − 2ac

a3c

b2 − 2ac

a2c2

b2 − 2ac

c4

18. IF  are the roots of  then 

A. 

B. 

C. 

α, β ax2 + bx + c = 0

(aα + b) − 3 + (aβ + b) − 3 =

a3 − 2abc

b3 − 3abc

c3 − 3abc

b3c3

https://dl.doubtnut.com/l/_E43mDQjmycq4
https://dl.doubtnut.com/l/_4ZnkK1aamHXA


D. 

Answer: D

Watch Video Solution

b3 − 3abc

a3c3

19. IF  are the roots of  then 

A. 0

B. 1

C. 

D. 

Answer: A

Watch Video Solution

α, β ax2 + bx + c = 0

( )
3

− ( )
3

=
α

aβ + b

β

aα + b

(a + b)
2

(a − b)
2

https://dl.doubtnut.com/l/_4ZnkK1aamHXA
https://dl.doubtnut.com/l/_iZ8wcTZXLUAU


20. IF  are the roots of the equation  then the

value of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

α, , β 8x2 − 3x + 27 = 0

( )
1 / 3

+ ( )
1 / 3

α2

β

β2

α

1/3

1/4

7/2

4

21. If  are the roots of  then

 is

A. zero

B. positive

C. negative

α, β ax2 + bx + c = 0

(1 + α + α2)(1 + β + β2)

https://dl.doubtnut.com/l/_lMFzH07YO0jn
https://dl.doubtnut.com/l/_AHAn9Vd4dVQD


D. not determined

Answer: B

Watch Video Solution

22. If  are the roots of  then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

α, β ax2 − 2bx + c = 0

α3β3 + α2β3 + α3β2 =

c2(2b + c)

a3

bc2

a3

c3

a3

c2(b + 2ac)

a3

https://dl.doubtnut.com/l/_AHAn9Vd4dVQD
https://dl.doubtnut.com/l/_EsGb9jUCXLxH


23. IF  are real and  are the roots of 

 then  =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

α, β α2, − β2

a2x2 + x + 1 − a2 = 0(A > 1) β2

a2

1

1 − a2

1 + a2

24. If  are the roots of  then =

A. 8

B. 16

C. 32

D. 64

α, β x2 − 2x + 4 = − 0 α5 + β5

https://dl.doubtnut.com/l/_fiV67r1zcGr4
https://dl.doubtnut.com/l/_5Q8OHp0lBnNY


Answer: C

Watch Video Solution

25. If  are the roots of the equation  then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

α and β x2 − 2x + 4 = 0,

α9 + β9 =

−28

29

−210

210

26. Let  be the roots of equation  if

p,q, r are in A.P and  then the value of  is

α and β px2 + qx + r = 0, p ≠ 0,

+ = 4
1

α

1

β
|α − β|

https://dl.doubtnut.com/l/_5Q8OHp0lBnNY
https://dl.doubtnut.com/l/_Wa1S1hjZJGOx
https://dl.doubtnut.com/l/_9DyxoRxldWKN


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

√34
9

2√13

9

√61

9

2√17
9

27. IF  be the roots of  then 

A. 

B. 

C. 

D. none

Answer: C

α, β 6x2 − 6x + 1 = 0

(a + ba + cα2 + dα3) + (a + bβ + cβ2 + dβ3) =
1

2

1

2

a + β + c + d

a + 2b + 3c + 4d

a + b/2 + c/3 + d/4

https://dl.doubtnut.com/l/_9DyxoRxldWKN
https://dl.doubtnut.com/l/_6ZHva2Ykif4x


View Text Solution

28. If  are the roots of  then 

A. 1

B. c

C. 

D. 

Answer: D

Watch Video Solution

α, β x2 − p(x + 1) + c = 0

(1 + α)(1 + β) =

1 − c

1 + c

29. IF  are the roots of  then

A. 3

α, β x2 − p(x + 1) − c = 0

+ =
α2 + 2α + 1

α2 + 2α + c

β2 + 2β + 1

β2 + 2β + c

https://dl.doubtnut.com/l/_6ZHva2Ykif4x
https://dl.doubtnut.com/l/_3I045nnF7sFP
https://dl.doubtnut.com/l/_X55gudCbrPdZ


B. 2

C. 1

D. 0

Answer: C

View Text Solution

30. IF  are the roots of  and  then 

=

A. 0

B. 

C. 

D. 

Answer: B

i l i

α, β ax2 + bx + c = 0 sn = αn + βn

∣
∣
∣
∣

3 1 + S1 1 + S2

1 + S1 1 + S2 1 + S3

1 + s2 1 + s3 1 + S4

∣
∣

∣
∣

(b2 − 4ac)(a + b + c)2

a4

b2 − 4ac

a4

(a + b + c)2

a4

https://dl.doubtnut.com/l/_X55gudCbrPdZ
https://dl.doubtnut.com/l/_aOxiS8FYQeaM


View Text Solution

31. Let  be the roots of equation . If

 for  then the value of  is equal to

A. 6

B. 

C. 

D. 

Answer: C

Watch Video Solution

α and β x2 − 6x − 2 = 0

an = αn − βn, n ≥ 1
a10 − 2as

2a9

−6

3

−3

32. IF  are the roots of the equation  , then the

value of the determinant 

A. 

α, β ax2 + bx + c = 0

∣
∣
∣
∣
∣

1 cos(β − α) cosα

cos(α − β) 1 cos β

cosα cos β 1

∣
∣

∣

∣
∣

sin(α + β)

https://dl.doubtnut.com/l/_aOxiS8FYQeaM
https://dl.doubtnut.com/l/_2KY2CaSfUy4I
https://dl.doubtnut.com/l/_eTTxiuBaadCX


B. 

C. 

D. 0

Answer: D

Watch Video Solution

sinα sinβ

1 + cos(α + β)

33. IF the roots of the quadratic equation  are 

and  , respectively then the value of  is

A. 0

B. 1

C. 2

D. 3

Answer: D

Watch Video Solution

x2 + px + q = 0 tan 30∘

tan 15∘ 2 + q − p

https://dl.doubtnut.com/l/_eTTxiuBaadCX
https://dl.doubtnut.com/l/_grzkIEqvP0GC


34. IF  are the roots of  , the value of 

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

tanA, tanB x2 − px + q = 0

sin2(A + B)

p2

p2 + (1 − q)2

p2

p2 + q2

q2

p2 + (1 − q)2

p2

(p + q)
2

35. If  are the roots of  and  are the roots of 

 then 

A. 

B. 

α, β x2 + ax − b = 0 γ, σ

x2 + ax + b = 0 (α − γ)(β − γ)(α − σ)(β − σ) =

b2

2b2

https://dl.doubtnut.com/l/_grzkIEqvP0GC
https://dl.doubtnut.com/l/_vInSXD1qqWa5
https://dl.doubtnut.com/l/_2QUA26tDZqAA


C. 

D. 

Answer: D

Watch Video Solution

3b2

4b2

36. If  are the roots of  and  are the roots of 

 then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

α, β x2 + px − q = 0 γ, δ

x2 + px + r = 0 (α − γ)(β − γ)(α − δ)(β − δ) =

2q2

2q2

(q + r)2

(q − r)2

https://dl.doubtnut.com/l/_2QUA26tDZqAA
https://dl.doubtnut.com/l/_2bVEDgELj8PU
https://dl.doubtnut.com/l/_qhUZXrrwNpsf


37. If  are the roots of  and  are the roots of 

 then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

α, β x2 + px + 1 = 0 γ, δ

x2 + qx + 1 = 0 (α − γ)(β − γ)(α + δ)(β + δ) =

2p2

2p2

p2 − q2

q2 − p2

38. If  are the roots of  and  are the

roots of  then 

A. 

B. 

C. 

α, β ax2 + 2bx + c = 0 α + σ, β + σ

Ax2 + 2Bx + c = 0 =
b2 − ac

B2 − AC

a/A

A/a

(a/A)
2

https://dl.doubtnut.com/l/_qhUZXrrwNpsf
https://dl.doubtnut.com/l/_2Xz2DYzFSLUI


D. 

Answer: C

Watch Video Solution

(A/a)2

39.  are the roots of  and  are the roots of 

 and  be the respective discrimination of these

equations .If  are in A.P then =

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

α, β ax2 + bx + c = 0 γ, σ

px3 + qx + r = 0 D1 :D2

α, βγ and δ D1 :D2

a2 : p2

b2 : q2

c2 : r2

https://dl.doubtnut.com/l/_2Xz2DYzFSLUI
https://dl.doubtnut.com/l/_AKHLyXSd92Ll
https://dl.doubtnut.com/l/_MAQou5CvguzF


40. The ratio of the roots of the equation  is same as

the ratio of the roots of the equation  . If 

are the discrimination of  and 

respectively , then  =

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

ax2 + bx + c = 0

px2 + qx + r = 0 D1 and D2

ax2 + bx + c = 0 px2 + qx + r = 0

D1 :D2

a2 : p2

b2 : q2

c2 : r2

41.  are the roots of  and  are the roots of 

 and  be the respective discrimination of these

equations .If  are in A.P then =

A. 

α, β ax2 + bx + c = 0 γ, σ

px3 + qx + r = 0 D1 :D2

α, βγ and δ D1 :D2

a2 : p2

https://dl.doubtnut.com/l/_MAQou5CvguzF
https://dl.doubtnut.com/l/_siGYeMS9xke0


B. 

C. 

D. 

Answer: A

Watch Video Solution

a2 : b2

a2 : c2

a2 : d2

42. Let p and q be the roots of  and let r and s be the

roots of  If  are in ordered pair (A , B) =

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 − 2x + A = 0

x2 − 18 + B = 0. p < q < r < s

( − 3, 77)

(77, − 3)

( − 3, − 77)

https://dl.doubtnut.com/l/_siGYeMS9xke0
https://dl.doubtnut.com/l/_m4H3ijWZywLH


43. Let  , be the roots of the equation  and let

 be the roots of the equation  if the numbers

 ( in order ) form an increasing G.P then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x1, x2 x2 − 3x + p = 0

x3, x4 x2 − 12x + q = 0

x1, x2, x4

p = 2, q = 16

p = 2, q = 32

p = 4, q = 16

p = 4, q = 32

44. Let  be the roots of  and  be the roots of 

 . If  are in G.P then the integral values of p and

q respectively , are

α, β x2 − x + p = 0 γ, δ

x2 − 4x + q = 0 α, β, δ, γ

https://dl.doubtnut.com/l/_m4H3ijWZywLH
https://dl.doubtnut.com/l/_JtNlNXt0khRQ
https://dl.doubtnut.com/l/_M2fHUceYqSef


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−2, − 32

−2, 3

−6, 3

−6, − 32

45.  are the roots of the equation  and 

 are the roots of the requation  if

 form a H.P , then (A,B) =

A. 

B. 

C. 

D. 

x1 and x3 Ax2 − 4x + 1 = 0

x2 and x4 = 0 Bx2 − 6x + 1 = 0

x1, x2, x3, x4

(3, 3)

(8, 8)

(3, 8)

(8, 3)

https://dl.doubtnut.com/l/_M2fHUceYqSef
https://dl.doubtnut.com/l/_YD4axGwpgsoc


Answer: C

Watch Video Solution

46. The coefficient of  in a quadratic equation  was

taken as 17 in place of 13 and its roots found to be  and . The

roots of the original equation are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x x2 + px + q = 0

−2 −15

2, 15

10, 3

−10, − 3

−2, − 15

https://dl.doubtnut.com/l/_YD4axGwpgsoc
https://dl.doubtnut.com/l/_sx57yeIpkAg3


47. The students while solving a quadratic equation in x, one copied the

constant term incorreclty and got the roots 3 and 2 , The order copied

the constant term and coefficient of  as -6 and 1 respectively The

correct roots are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2

3, − 2

−3, 2

−6, − 1

6, − 1

48. If 8 and 2 are the roots of  are the roots of

 then the roots of the equation  are

A. 

x2 + ax + β = 0 and 3, 3

x2 + αx + b = 0 x2 + ax + b = 0

1, − 1

https://dl.doubtnut.com/l/_WWbFUuZWRSet
https://dl.doubtnut.com/l/_DDnsb9Qar4jc


B. 

C. 

D. 

Answer: D

Watch Video Solution

−9, 2

−8, − 2

9, 1

49. IF  and  are the real roots of the equation  then

the distance between the points A  and  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x1 x2 x2 − kx + c = 0

(x1, 0) (x2, 0)

√k2 − c

√c − k2

√k2 − 4c

√k3 + 4c

https://dl.doubtnut.com/l/_DDnsb9Qar4jc
https://dl.doubtnut.com/l/_tReRLUqadysq


50. If one root of the equation  is 2- I then

the root is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Ix2 − 2(1 + i)x + (2 − i) = 0

− i

2 + i

i

2 − i

51. If one root of  is 4 and the equation

 has equal roots then the value of b=

A. 7

B. 9

x2 + ax + 8 = 0

x2 + ax + b = 0

https://dl.doubtnut.com/l/_tReRLUqadysq
https://dl.doubtnut.com/l/_W3VW7xaFKsRC
https://dl.doubtnut.com/l/_9nVXifLEJ3fQ


C. 1

D. 3

Answer: B

Watch Video Solution

52. IF the roots of the equation  are  and the roots

of the equation  and then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 − 5x + 16 = 0 α, β

x2 + px + q = 0 α2 + β2, ,
αβ

2

p = 1, q = − 56

p = − 1, q = − 56

p = 1, q = 56

p = − 1, q = 56

https://dl.doubtnut.com/l/_9nVXifLEJ3fQ
https://dl.doubtnut.com/l/_er5eu2xsY3BJ
https://dl.doubtnut.com/l/_AquMTKYw4zvj


53. IF  is a factor of  then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 − 3x + 2 x4 − px2 + q = 0 (p, q) = 0

( − 4, − 5)

(4, 5)

( − 5, − 4)

(5, 4)

54. IF the product of the roots of 

is 3, then m=

A. 0

B. 

C. 2

D. 3

5x2 − 4x + 2 + m(4x2 − 2x − 1) = 0

−1

https://dl.doubtnut.com/l/_AquMTKYw4zvj
https://dl.doubtnut.com/l/_Qj21BQDHL3Xn


Answer: B

Watch Video Solution

55. IF  and the product of the roots of the equation

-1=0 is 7 then the sum of the roots is

A. 2

B. 4

C. 6

D. 8

Answer: C

Watch Video Solution

k > 0

x2 − 3kx + 2e2 logk

56. The value of K , so that the sum and product of the roots of

 are equal is2x2 + (k − 3)x + 3k − 5 = 0

https://dl.doubtnut.com/l/_Qj21BQDHL3Xn
https://dl.doubtnut.com/l/_NAD2sLaLDtK0
https://dl.doubtnut.com/l/_Y11UXtH8Zyvz


A. 0

B. 10

C. 2

D. 9

Answer: C

Watch Video Solution

57. IF the sum of the square of the roots of  is 10 then

the values of p=

A. 

B. 

C. 

D. 

Answer: A

x2 + px − 3 = 0

+2

±3

3

−3

https://dl.doubtnut.com/l/_Y11UXtH8Zyvz
https://dl.doubtnut.com/l/_2XSwQPtcP5Nk


Watch Video Solution

58.  are the roots of  . If  then K=

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

α, β x2 + kx + 2 = 0 α − β = 1

±1

±2

±3

±4

59.  are roots of the equation  If  are the

two values of  for which the roots  are connceted by the relation

 , then the value of  is

A. 150

α, β λ(x2 − x) + x + 5 = 0 λ2

λ α, β

+ = 4
α

β

β

α
+

λ1

λ2

λ2

λ1

https://dl.doubtnut.com/l/_2XSwQPtcP5Nk
https://dl.doubtnut.com/l/_ds1uPg9tXaIo
https://dl.doubtnut.com/l/_cBHv8pMXg93p


B. 254

C. 180

D. 1022

Answer: D

Watch Video Solution

60. The harmonic mean of the roots of the equation

=0 is

A. 2

B. 4

C. 6

D. 8

Answer: B

Watch Video Solution

(5 + √2)x2 − (4 + √5)x + (8 + 2√5)

https://dl.doubtnut.com/l/_cBHv8pMXg93p
https://dl.doubtnut.com/l/_g26yAL2Se3j2


61. IF C and D are the roots of  then the roots of

 are

A. b,c

B. a,b

C. a,c

D. a,d

Answer: B

Watch Video Solution

(x − a)(x − b) − k = 0

(x − c)(x − d) + k = 0

62. IF  be the roots of the equation 

then the roots of the equation  =c are

A. a and b+c

B. a+c and b

α, β (x − a)(x − b) + c = 0(c ≠ 0)

(x − c − α)(x − c − β)

https://dl.doubtnut.com/l/_g26yAL2Se3j2
https://dl.doubtnut.com/l/_zmDboBPg1mIx
https://dl.doubtnut.com/l/_5S8mv027HzGV


C. a+c and b+c

D. a-c and b-c

Answer: C

View Text Solution

63. The equation whose roots are - 5 and -2  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2√3 √3 − 5

x2 + 10x − 13 = 0

x2 − 10x + 13 = 0

x2 + 10x + 13 = 0

x2 − 10 − 13 = 0

https://dl.doubtnut.com/l/_5S8mv027HzGV
https://dl.doubtnut.com/l/_QMKwnJm3WWtT


64. The equation whose roots are  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3 + 2I, 3 − 2i

x2 − 8x + 15 = 0

15x2 − 34 + 15 = 0

x2 − 6x + 13 = 0

x2 + 1 = 0

65. IF  are the roots of  , then the equation

whose roots are  is

A. 

B. 

C. 

α and β 2x2 + x + 3 = 0

and
1 − α

1 + α

1 − β

1 + β

2x2 + x + 3 = 0

2x2 − x − 3 = 0

2x2 + x − 3 = 0

https://dl.doubtnut.com/l/_QHkA31oOuE6A
https://dl.doubtnut.com/l/_wZkvudp8P7Vh


D. 

Answer: A

Watch Video Solution

2x2 − x − 3 = 0

66. IF  are the roots of  then the equation whose

roots are  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

α, β x2 + 5x − 4 = 0

,
α + 2

3

β + 2

3

9x2 + 3x + 10 = 0

9x2 + 3x − 10 = 0

9x2 + x = 0

2x2 − 3x + 10 = 0

https://dl.doubtnut.com/l/_wZkvudp8P7Vh
https://dl.doubtnut.com/l/_eu46P5ATdq0C


67. If  are the roots of  then the quadratic equation

whose roots are  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

α, β x2 − x + 1 = 0

α2015, β2015

x2 − x + 1 = 0

x2 + x + 1 = 0

x2 + x − 1 = 0

x2 − x − 1 = 0

68. IF  are the roots of  , then the whose roots are 

 is

A. 

B. 

C. 

α, β x2 − ax + b = 0

,
α + β

α

α + β

β

bx2 + a2x + a2 = 0

bx2 − a2x + a2 = 0

b2x2 − a2x + a2 = 0

https://dl.doubtnut.com/l/_T2etNyxtAgBH
https://dl.doubtnut.com/l/_sBvTGK4LQ4UO


D. 

Answer: B

Watch Video Solution

ax2 + b2x + b2 = 0

69. IF  are the roots of  then the equation roots are

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

α, β ax2 + bx + c = 0

α/β, β/α

acx2 − (b2 − 2ac)x + ac = 0

a3x2 + (b3 − 3abc) + x + c3 = 0

x2 − 2qx + (q2 − p2) = 0

x2 + 2qx + (q2 + p2) = 0

https://dl.doubtnut.com/l/_sBvTGK4LQ4UO
https://dl.doubtnut.com/l/_IxuKhP3qAikC


70. IF  are the roots of the equation then the

quadratic equation whose roots are  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

α, β ax2 + bx + c = 0

α + β, αβ

a2x2 + a(b − c)x + bc = 0

a2x2 + a(b − c)x − bc = 0

ax2 + (b + c)x + bc = 0

ax2 − (b + c) − bc = 0

71. In a  the value of  is obtained from the equation

 . The quandratic equation , whose roots are  and 

 is

A. 

B. 

ΔABC, ∠A

3 cosA + 2 = 0 sinA

tanA

3x2 + √5x − 5 = 0

6x2 − √5x − 5 = 0

https://dl.doubtnut.com/l/_LoDqAmcV3Enz
https://dl.doubtnut.com/l/_lM1qOg4sseRj


C. 

D. 

Answer: C

Watch Video Solution

6x2 + √5x − 5 = 0

6x2 + √5x + 5 = 0

72. The equation whose roots are the cubes of the roots of the equation

 is

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

ax2 + bx + c = 0

a3x2 + (b2 − 3abc)x + c3 = 0

a3x2 + (b2 + 3abc)x + c2 = 0

a3x2 − (b3 + 3abc)x + c2 = 0

https://dl.doubtnut.com/l/_lM1qOg4sseRj
https://dl.doubtnut.com/l/_UeR0Fk21qrQe
https://dl.doubtnut.com/l/_FANDXrzhy3Qg


73. IF  are the roots of  and  are the roots of 

 then the equation whose roots are 

 is

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

α, β ax2 + bx + c = 0 γ, δ

lx2 + mx + n = 0

αγ + βδ, αδ + βγ

a2t2x2 − ablmx + b = 0

a2t2x2 − ablmx + (b2nl + m2ac − 4acnl) = 0

a3t2x2 − ablmx

74. IF

then  are the roots of the equation

A. 

a = cos( ) + i sin( ), α = a + a2 + a4 and β = a3 + a5 + a62π

7

2π

7

α, β

x2 + x + 1 = 0

https://dl.doubtnut.com/l/_FANDXrzhy3Qg
https://dl.doubtnut.com/l/_PebrE0miKtGp


B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + x + 2 = 0

x2 + x + 2 = 0

x2 + 2x + 3 = 0

75. Let  satisfy  Then, the quadratic

equation whose roots are  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

α ≠ β α2 + 1 = 6α, β2 + 1 = 6β.

,
α

α + 1

β

β + 1

8x2 + 8x + 1 = 0

8x2 − 8x − 1 = 0

8x2 − 8x + 1 = 0

8x2 + 8x − 1 = 0

https://dl.doubtnut.com/l/_PebrE0miKtGp
https://dl.doubtnut.com/l/_EQmAlY5fRTwU


76. IF  where  then the equation

whose roots are  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3p2 = 5p + 2 and 3q2 = 5q + 2 p ≠ q

3p − 2q and 3q − 2p

3x2 − 5x − 100 = 0

5x2 + 3x + 100 = 0

3x2 − 5x + 100 = 0

3x2 + 5x − 100 = 0

77. IF  are the roots of the equation  , then the

quadratic equation with rational coefficient one of whose roots is

 is

A. 

α, β x2 + 2ax + b = 0

α + β + √α2 + β2

x2 − 4ax + 12 = 0

https://dl.doubtnut.com/l/_EQmAlY5fRTwU
https://dl.doubtnut.com/l/_JEs2aGiOy4sO
https://dl.doubtnut.com/l/_Ci7tY5DYE5F0


B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + 4ax − 2b = 0

x2 − 4ax − 2b = 0

x2 + 4ax + 2b = 0

78. The quadratic equation for which the sum of the roots is 7 and the

sum of the squares of the roots is 25 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 − 7x + 12 = 0

x2 ± 54x + 6 = 0

x2 − 12x + 35 = 0

5x2 + 2x + 11 = 0

https://dl.doubtnut.com/l/_Ci7tY5DYE5F0
https://dl.doubtnut.com/l/_mUBzDC9SuxY5


79. The quadratic equation for which the sum of the roots is  and the

sum of the cubes of the roots is 468 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

12

x2 − 7x + 12 = 0

x2 ± 54x + 6 = 0

x2 − 12x + 35 = 0

5x2 + 2x + 11 = 0

80. IF  =- 2 alpha ^3 + beta ^3 =- 56

 alpha and beta ` is

A. 

B. 

α + β and

, thenthe  raticequationwhose s√are

x2 + 2x − 16 = 0

x2 + 2x − 15 = 0

https://dl.doubtnut.com/l/_mUBzDC9SuxY5
https://dl.doubtnut.com/l/_FQnbDjZxzX04
https://dl.doubtnut.com/l/_FpsBdhNzVOcS


C. 

D. 

Answer: D

Watch Video Solution

x2 + 2x − 12 = 0

x2 + 2x − 8 = 0

81. Two complex numbers  are such that  and

 , then the quadractic equation whose roots are 

is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

α and β α + β = 2

α4 + β4 = 272 α and β

x2 − 2x − 16 = 0

x2 + 2x − 15 = 0

x2 − 2x − 8 = 0

https://dl.doubtnut.com/l/_FpsBdhNzVOcS
https://dl.doubtnut.com/l/_13ckk6EGLCEx


82. IF the arithmetic mean of the roots of a quadratic equation is 8/5 and

the arithmetic mean of their reciprocals is 8/7 then the equation is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

5x2 + 16x + 7 = 0

5x2 − 16x + 7 = 0

7x2 + 16x + 5 = 0

7x2 − 16x + 5 = 0

83. Let two numbers have arthmetic mean 9 geometric mean 4. then

these numbers are the roots of the quadratic equation

A. 

B. 

x2 + 18x + 16 = 0

x2 − 18x − 16 = 0

https://dl.doubtnut.com/l/_13ckk6EGLCEx
https://dl.doubtnut.com/l/_RHXF0nIJAeFI
https://dl.doubtnut.com/l/_FuamQRoZRCTy


C. 

D. 

Answer: D

Watch Video Solution

x2 + 18 − 16 = 0

x2 − 18 + 16 = 0

84. The equation whose roots are the arthmatic mean and twice the H.M

between the roots of the equation  is

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

x2 + ax − b = 0

2ax2 + (a2 − 8b)x + 4ab = 0

2ax2 + (a2 − 8b)x − 4ab = 0

2ax2 + (a2 + 8b)x − 4ab = 0

https://dl.doubtnut.com/l/_FuamQRoZRCTy
https://dl.doubtnut.com/l/_2r2npbfocjbJ
https://dl.doubtnut.com/l/_w2iKUZyhoDIZ


85. IF  are the roots of  then the equation with the

roots  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

α, β 9x2 + 6x + 1 = 0

1/α, 1/β

2x2 + 3x + 18 = 0

x2 + 6x − 9 = 0

x2 + 6x + 9 = 0

x2 − 6x + 9 = 0

86. The equation whose roots are greater by 1 than those of

 is

A. 

B. 

C. 

2x2 − 3x + 1 = 0

3x2 − 5x − 2 = 0

2x2 − 7x + 6 = 0

2x2 + 5x + 7 = 0

https://dl.doubtnut.com/l/_w2iKUZyhoDIZ
https://dl.doubtnut.com/l/_qwpQGnkaBPc9


D. 

Answer: B

Watch Video Solution

3x2 + % x − 7 = 0

87. IF  are the roots of  then the equation whose

roots are  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

α, β ax2 + bx + c = 0

2 + α, 2 + β

ax2 + x(4a − b) + 4a − 2b + C = 0

ax2 + x(4a − b) + 4a + 2b + c = 0

ax2 + x(b − 4a) + 4a + 2bc = 0

ax2 + x(b − 4a) + 4a − 2b + c = 0

https://dl.doubtnut.com/l/_qwpQGnkaBPc9
https://dl.doubtnut.com/l/_8Skhsdmxwg4i


88. The equation whose roots are smaller by 1 then those of

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2x2 − 5x + 6 = 0

2x2 − 9x + 13 = 0

2x2 − x + 3 = 0

2x2 + 9x + 13 = 0

2x2 + x + 3 = 0

89. the equation formed by decreasing each root of 

by 1 is  then

A. 

B. 

C. 

ax2 + bx + C = 0

2x2 + 8x + 2 = 0

a = − b

b = − c

c = − a

https://dl.doubtnut.com/l/_C0P9dxNqocPF
https://dl.doubtnut.com/l/_5oYT4LpWPcG8


D. 

Answer: B

Watch Video Solution

b = a + c

90. If  are the roots of  and  are the

roots of  then h=

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

α, β a2x + bx + c = 0 α + h + β + h

px2 + qx + r = 0

( − )
b

a

q

p

( − )
1

2
b

a

q

p

− ( − )
1

2
a

b

p

q

https://dl.doubtnut.com/l/_5oYT4LpWPcG8
https://dl.doubtnut.com/l/_PVPeJxQV0cy2


91. IF  are the roots of  and  are the

roots of  then h=

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

α, β x2 + bx + c = 0 α + h, β + h

x2 + qx + r = 0

b + q

b − q

(b + q)
1

2

(b − q)
1

2

92. IF  and  are the roots of the equation  and if

 has roots  then r=

A. 

B. 

C. 

α β ax2 + bx + C = 0

px2 + qx + r = 0 and
1 − α

α

1 − β

β

a + 2b

a + b + C

ab + bc + ca

https://dl.doubtnut.com/l/_AJEpVKAwcu8j
https://dl.doubtnut.com/l/_r5EvBUjNWrqs


D. 

Answer: B

Watch Video Solution

abc

93. The equation whose roots are numerically equal but opposite in sign

of the roots of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3x2 − 5x − 7 = 0

3x2 − 5x − 2 = 0

2x2 − 7x + 6 = 0

2x2 + 5x + 7 = 0

3x2 + 5x − 7 = 0

https://dl.doubtnut.com/l/_r5EvBUjNWrqs
https://dl.doubtnut.com/l/_QdQc6CdERrii


94. The equation whose roots are multipled by 3 of those of

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2x2 + 3x − 1 = 0

2x2 + 9x − 9 = 0

2x2 − 7x + 6 = 0

2x2 + 5x + 7 = 0

3x2 + 5x − 7 = 0

95. The condition that one root of  may be n times the

other root is

A. 

B. 

C. 

ax2 + bx + c = 0

nb2 = ac(n + 1)

nb2 = ac(n + 1)2

nb = ac(n + 1)

https://dl.doubtnut.com/l/_4o8uYIvv4kbp
https://dl.doubtnut.com/l/_RBaZV2tZgyyf


D. 

Answer: B

Watch Video Solution

nb = ac(n + 1)2

96. The condition that one root of  may be the double

the other is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ax2 + bx + c = 0

b2 = 2ac

b2 = 2ac

2b2 = 9ac

2b2 = 3ac

https://dl.doubtnut.com/l/_RBaZV2tZgyyf
https://dl.doubtnut.com/l/_uwf0CUNypVcf


97. If one root of  may be the triple the other , then k=

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + kx + 12 = 0

±8

3

±5√10

2 ± √5

98. IF one root of  is six times the other then 

A. 1

B. 2

C. 3

D. 4

px2 − 14x + 8 = 0 p =

https://dl.doubtnut.com/l/_GSpHx4If7v8M
https://dl.doubtnut.com/l/_2xYm3IqLjRaa


Answer: C

Watch Video Solution

99. IF the roots of  are in the ratio p:q then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ax2 + cx + c = 0

√[ ] + √[ ] =
p

q

q

p

√a/c

√c/a

−√a/c

−√c/a

100. IF one root of  is square that of the other, then

k=………

x2 − x − k = 0

https://dl.doubtnut.com/l/_2xYm3IqLjRaa
https://dl.doubtnut.com/l/_B9ye8OkzbxEX
https://dl.doubtnut.com/l/_ByUJ6alppBMh


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2 ± √3

3 ± √2

2 ± √5

5 ± √2

101. If one root of  is square that of the other thenp=

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + px + 1 = 0

1, − 2

3, − 1

2, − √5

4 + √5

https://dl.doubtnut.com/l/_ByUJ6alppBMh
https://dl.doubtnut.com/l/_CjkVdtWytjFW


102. IF the harmonic mean between the roots of

 is 4 then value of b is

A. 2

B. 3

C. 

D. 

Answer: D

Watch Video Solution

(5 + √2)x2 − bx + (8 + 2√5) = 0

4 − √5

4 +√5

103. IF the harmonic mean of the roots of 

is 4 then the value of b=

A. 2

B. 3

√2x2 − bx + (8 − 2√5) = 0

https://dl.doubtnut.com/l/_CjkVdtWytjFW
https://dl.doubtnut.com/l/_WhDgetxp4Tve
https://dl.doubtnut.com/l/_ja5XER6zDmSe


C. 

D. 

Answer: C

Watch Video Solution

4 − √5

4 +√5

104. The condition that a root of  may be the reciprocal

of a root of  is

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

ax2 + bx + c = 0

a1x
2 + b1x + c1 = 0

(aa1 − cc1)2(ab1 + bc1)(a1b + b1c)

(aa1 − cc1)2 = (ab1 − bc1)(a1b − b1c)

(aa1 − bb1)2 = (ac1 − bc1)

https://dl.doubtnut.com/l/_ja5XER6zDmSe
https://dl.doubtnut.com/l/_EzxSBYJZGYzf
https://dl.doubtnut.com/l/_NGdiXq8eSZeY


105. IF the sum of the roots of the quadratic equation 

is equal to sum of the square of their reciprocals then =

A. 2

B. 

C. 

D. 

Answer: A

Watch Video Solution

ax2 + bx + c = 0

+
b2

ac

bc

a2

−2

1

−1

106. IF the sum of the roots of the equation  is 3 times

their difference , then

A. 

B. 

C. 

x2 + px + q = 0

2p2 = q

2p2 = 5q

p2 = 3q

https://dl.doubtnut.com/l/_NGdiXq8eSZeY
https://dl.doubtnut.com/l/_M4aYsISK870Q


D. 

Answer: D

Watch Video Solution

2p2 = 9q

107. If the roots of the equation  be the square roots of

the equation  then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ax2 + bx + c = 0

lx2 + mx + n = 0

2alc = lb2 + ma2

2alc = lb2 − ma2

alc = lb2 + ma2

alc = lb2 − ma2

https://dl.doubtnut.com/l/_M4aYsISK870Q
https://dl.doubtnut.com/l/_E9JqYb9OX0tR


108. IF the ratio of the roots of  and 

are the same , then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + bx + c = 0 x2 + qx + r = 0

r2c = qb2

r2b = qc2

rb2 = cq2

rc2 = bq2

109. If the ratio of the roots of  is same as that of the

roots of  then  are in

A. 

B. 

C. 

a(x)2 + bx + c = 0

px2 + qx + r = 0 a/p, b/q, c/r

A. P

G. P

H. P

https://dl.doubtnut.com/l/_lrWyDh6ojpfJ
https://dl.doubtnut.com/l/_syrApHAw0rps


D. none

Answer: B

Watch Video Solution

110. The value of m for which one of the roots of  is

double of one of the roots of is

A. 1

B. 

C. 2

D. none

Answer: B

Watch Video Solution

x2 − 3x + 2m = 0

x2 − x + m = 0

−2

https://dl.doubtnut.com/l/_syrApHAw0rps
https://dl.doubtnut.com/l/_5OlP5qVJDEFs


111. IF the difference of the roots of  is equal to the

difference of the roots of  and  , then b+c=

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 − bx + c = 0

x2 − cx + b = 0 b ≠ 0

−1

−2

−3

−4

112. The condition that the roots of the equation  may

differ by 5 is

A. 

B. 

C. 

ax2 + bx + c = 0

b2 − 25a2 = 4ac

b2 − 5a2 = 4ac

b2 + 15a2 = 4ac

https://dl.doubtnut.com/l/_OgfawOPnvxf0
https://dl.doubtnut.com/l/_EAQ8qf013MjW


D. none

Answer: A

Watch Video Solution

113. The condition that sin  cos  may be the roots of 

is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

θ θ ax2 + bx + c = 0

a(a + 2b) = c2

a(a + 2c) = b2

b(b + 2c) = a2

b(b + 2a) = c2

https://dl.doubtnut.com/l/_EAQ8qf013MjW
https://dl.doubtnut.com/l/_1RZsVB588u4h


114. If  are the roots of , then value

of 2alpha ` is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sinα and cosα 25x2 + 5x − 12 = 0

sin

12/25

−12/25

−24/25

4/5

115. IF  are the roots of the quadratic 

then 

A. 

B. 

C. 

tanA and tanB x2 − px + q = 0

sin2(A + B) =

p2

p2 + q2

p2

(p + q)2

1 −
p

(1 − q)2

https://dl.doubtnut.com/l/_QJ6WodXoVQ6I
https://dl.doubtnut.com/l/_ph5IZVeeTyya


D. 

Answer: D

Watch Video Solution

p2

p2 + (1 − q)2

116. In a triangle PQR angle  if  and  are the

roots of the equation  then

A. a+b=c

B. 

C. a+c=b

D. b=c

Answer: A

Watch Video Solution

R = π/2 tan(p/2) tan(Q/2)

ax2 + bx + c = 0(a ≠ 0)

b + c = 0

https://dl.doubtnut.com/l/_ph5IZVeeTyya
https://dl.doubtnut.com/l/_1YViFXyLo95A


117. In a triangle  if  are the

roots of the equation  then

A. a+b=c

B. b+c=0

C. a+c=b

D. b=c

Answer: A

Watch Video Solution

PQR∠R = ,
π

4
tan( ) and tan( )

p

3

Q

3

ax2 + bx + c = 0

118. If one root of  is the cube of the other root, then p=

A. 0

B. 1

C. 

x2 + px + 1 = 0

1, ± 2

https://dl.doubtnut.com/l/_OI0LZAXZsCeK
https://dl.doubtnut.com/l/_BfpGfJZz3xOJ


D. 

Answer: D

Watch Video Solution

0, ± 2

119. IF one root of  is equal to nth power of the other

then 

A. 0

B. 1

C. b

D. 

Answer: D

Watch Video Solution

ax2 + bx + c = 0

(anc) + (acn)
1

n+ 1
1

n+ 1

−b

https://dl.doubtnut.com/l/_BfpGfJZz3xOJ
https://dl.doubtnut.com/l/_Rf0c3YKYBDdO


120. IF x,a,b,c are real and  then a,b,c are

in

A. H.P

B. G.P

C. A.P

D. none of these

Answer: C

Watch Video Solution

(x − a + b2) + (x − b + c)2 = 0

121. IF the roots of  are equal in magnitude and

opposite in sign then the product of the roots is

A. 

B. 

C. 

+ =
1

x + a

1

x + b

1

c

− (a2 + b2)
1

2

(a2 + b2)
1

2

− (a2 + b2)
3

2

https://dl.doubtnut.com/l/_GijVGBajbNAb
https://dl.doubtnut.com/l/_6ZN5qgqxNoE5


D. none

Answer: A

Watch Video Solution

122. IF the roots of the equation  are equal in

magnitude and opposite in sign , then p+q +r=

A. r

B. 3r

C. 

D. 

Answer: B

Watch Video Solution

+ =
1

x + p

1

x + q

1

r

r ∘

2r2

https://dl.doubtnut.com/l/_6ZN5qgqxNoE5
https://dl.doubtnut.com/l/_KnRYlHj8pjyK


123. IF  has roots equal in magnitude but

oppposite insign , then

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

+ = +
1

x

1

x + a

1

m

1

m + a

a2 = m2

a2 = 2m2

2a2 = m2

124. IF the roots of +c=0 b^2-

a^2`=

A. 14C

B. 7c

C. 5c

a2x2 − abx arecon secutive∫e ≥ rs, then

https://dl.doubtnut.com/l/_yLqwv6z7ragA
https://dl.doubtnut.com/l/_vk0rQMHKXdkW


D. 4c

Answer: D

Watch Video Solution

125. If r is the ratio of the roots of  then =

A. 1

B. 

C. 

D. 

Answer: C

Watch Video Solution

ax2 + bx + C = 0
(r + 1)

2

r

b2 − ac

b2 /ac

b2 − 4ac

https://dl.doubtnut.com/l/_vk0rQMHKXdkW
https://dl.doubtnut.com/l/_Gpsjkyskoxoz


126. IF the roots of  are of the form 

then  =

A. 0

B. 1

C. 

D. 

Answer: C

Watch Video Solution

ax2 + bx + c = 0 ,
m + 1

m

m + 2

m + 1

(a + b + c)2

b2 − 4ac

2abc

127. IF  =1 , where  are the roots of 

 then 

A. 

B. 

C. 

(aα + b) − 2 + (aβ + b) − 2
α, β

ax2 + bx + c = 0 ac(ac + 2) =

b2 /2

b3

2b

https://dl.doubtnut.com/l/_FYhx9vZNdo6R
https://dl.doubtnut.com/l/_yUsLofCJcUe5


D. 

Answer: D

Watch Video Solution

b2

128. IF the equation  has only negative

roots , then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + 2(k + 1)x + 9k − 5 = 0

k ≤ 0

k ≥ 0

k ≥ 6

k ≤ 6

https://dl.doubtnut.com/l/_yUsLofCJcUe5
https://dl.doubtnut.com/l/_hUB5XQfSvtRv


129. All the values of m for which both roots of the equation

 are greater than -2 but less than 4, lie in the

interval

A. 

B. 

C. 

D. 

Watch Video Solution

x2 − 2mx + m2 − 1 = 0

−1 < m < 3

1 < m < 4

−2 < m < 0

m > 3

130. The values of a for which of a for which

 may have ine root less than a and

other root greater than a are given by

A. 

B. 

2x2 − 2(2a + 1)x + a(a + 1) = 0

1 > a > 0

−1 < a < 0

https://dl.doubtnut.com/l/_aqOHAvlwgkZq
https://dl.doubtnut.com/l/_tPix3n8Dzd0v


C. 

D. 

Answer: D

View Text Solution

a > 0

a > 0 or a < − 1

131. The value of a for which the equation  has

roots belonging to (0,1) is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(1 − a2)x2 + 2ax − 1

a >
1 + √5

2

a > 2

< a < 2
1 + √5

2

a > √2

https://dl.doubtnut.com/l/_tPix3n8Dzd0v
https://dl.doubtnut.com/l/_4xYVoJfg5DtE
https://dl.doubtnut.com/l/_MCZf98iFapGN


132. The value of a for which each one of the roots of

 is greater than 2, are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 − 4ax + 2a2 − 3a + 5 = 0

a ∈ (1, ∞)

a = 1

a ∈ ( − ∞, 1)

a ∈ (9/2, ∞)

133. The value of 'a' for which one root of the quadratric equation

 is twice as large as the other is

A. 

B. 

C. 

(a2 − 5a + 3)x2 + (3a − 1)x + 2 = 0

−2/3

1/3

−1/3

https://dl.doubtnut.com/l/_MCZf98iFapGN
https://dl.doubtnut.com/l/_JAKN11nsmOhF


D. 

Answer: D

Watch Video Solution

2/3

134. IF both the roots of the quadratic equation

 are less than 5, then k lies in the interval

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 − 2kx + k2 + k − 5 = 0

(5, 6]

(6, ∞)

( − ∞, 4)

[4, 5]

https://dl.doubtnut.com/l/_JAKN11nsmOhF
https://dl.doubtnut.com/l/_XEOtg4PI4lTf


135. If roots of the equation  be two consecutive integers

, then  equals

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 − bx + c = 0

b2 − 4c

−2

3

2

1

136.  are distinct prime numbers and if the equation

 has positive integer as its roots then the roots the

roots of the equation are

A. 

B. 

p and q

x2 − px + q = 0

2, 3

1, 2

https://dl.doubtnut.com/l/_tQBQXlZci6OQ
https://dl.doubtnut.com/l/_70VkugLkW4YV


C. 

D. 

Answer: B

Watch Video Solution

3, 1

1, − 1

137. IF both the roots of the equation 

exceed 3, then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 − 6ax + 2 − 2a + 9a2 = 0

a >
9

11

a >
11

9

a >
11

9

a <
11

9

https://dl.doubtnut.com/l/_70VkugLkW4YV
https://dl.doubtnut.com/l/_HTshR2RVE74U
https://dl.doubtnut.com/l/_FOfPPzId0o1m


138. If the roots of  exceed , a then

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + x + a = 0

2 < a < 3

a > 3

−3 < a < 3

a <
1

−2

139. The roots of  are

A. rational and equal

B. rational and not equal

C. irrational

D. imaginary

3x2 + 4x − 7 = 0

https://dl.doubtnut.com/l/_FOfPPzId0o1m
https://dl.doubtnut.com/l/_65QLUt4VvhIO


Answer: B

Watch Video Solution

140. The roots of  are

A. rational and equal

B. rational and not equal

C. irrational

D. imaginary

Answer: D

Watch Video Solution

5x2 − 3x + 2 = 0

141. The roots of the equation are

A. real

(b − c)x2 + (c − a)x + (a − b) = 0

https://dl.doubtnut.com/l/_65QLUt4VvhIO
https://dl.doubtnut.com/l/_j3E4WiJTdSKg
https://dl.doubtnut.com/l/_af8KwAfBrtm1


B. real and equal

C. real and not equal

D. imaginary

Answer: A

Watch Video Solution

142. IF ad  bc then the roots of 

 are

A. real

B. real and equal

C. real and not equal

D. imaginary

Answer: D

Watch Video Solution

≠

(a2 + b2)x2 + 2x(ac + bd) + (c2 + d2) = 0

https://dl.doubtnut.com/l/_af8KwAfBrtm1
https://dl.doubtnut.com/l/_4n7MulGO3rfy


143. For  the roots of  are

A. real and equal

B. real and unequal

C. equal complex numbers

D. unequal complex numbers

Answer: D

Watch Video Solution

p, q ∈ R, (p2 + q2)x2 + 2(p + q)x + 2 = 0

144. The roots of the equation  are

A. real

B. real and equal

C. real and not equal

D. imaginary

2(a2 + b2)x2 + 2(a + b)x + 1 = 0

https://dl.doubtnut.com/l/_4n7MulGO3rfy
https://dl.doubtnut.com/l/_KrRfbxNgcS6u
https://dl.doubtnut.com/l/_0l1NLIdrrp4O


Answer: D

Watch Video Solution

145. The roots of

 are

A. real

B. equal

C. real and not equal

D. imaginary

Answer: A

Watch Video Solution

(x − b)(x − c) + (x − a)(x − c) + (x − a)(x − b) = 0

146. The roots of

(x − a)(x − a − 1) + (x − a − 1) + (x − a − 2) + (x − a)(x − a − 2) =

https://dl.doubtnut.com/l/_0l1NLIdrrp4O
https://dl.doubtnut.com/l/_xvAAOjGSfTIM
https://dl.doubtnut.com/l/_Y9nse9doGd3x


a  are always

A. equal

B. imaginary

C. real and distinct

D. rational and equal

Answer: C

View Text Solution

∈ R

147. IF l,m,n are rational the roots of 

are

A. rational

B. rational and equal

C. rational and not equal

D. irrational

(m + n)x2 − (l + m + n)x + l = 0

https://dl.doubtnut.com/l/_Y9nse9doGd3x
https://dl.doubtnut.com/l/_JcPFvFK2LZY4


Answer: A

Watch Video Solution

148. If the roots of  are imaginary then the roots of

b  are

A. real and equal

B. real nad unequal

C. equal complex numbers

D. unequal complex numbers

Answer: B

Watch Video Solution

a2x2 + 2bx + c2 = 0

(x2 + 1) + 2acx = 0

149. IF the roots of  are real

and equal then

(a2 + b2)x2 + 2(bc + ad)x + (c2 + d2) = 0

https://dl.doubtnut.com/l/_JcPFvFK2LZY4
https://dl.doubtnut.com/l/_WDKA5eeQbhj4
https://dl.doubtnut.com/l/_P9fZxrtcmXoA


A. 

B. 

C. ad+bc=0

D. 

Answer: D

Watch Video Solution

a/c = b/d

ac + bd = 0

ac − bd = 0

150. IF m,n,K are rational and  then the roots of 

 are

A. 

B. 

C. 

D. 

Answer: C

m = k +
n

k

x2 + mx + n = 0

k, n/k

k, n/k

−k, − n/k

−k, n/k

https://dl.doubtnut.com/l/_P9fZxrtcmXoA
https://dl.doubtnut.com/l/_dBcWofhHwOvr


Watch Video Solution

151. IF  are the roots of  and  are the roots of 

 then the equation  has always

A. two real roots

B. two negative roots

C. two positve roots

D. one positive root and one negative root

Answer: A

Watch Video Solution

α, β x2 + px + q = 0 α4, β4

x2 − rx + s = 0 x2 − 4qx + 2q2 − r = 0

152. Let  be real numbers  if  is a roots of 

 is a roots of  and  ,

then the equation  has a root  has a root  that

always satisfies

a, b, c a ≠ 0 α

a2x2 + bx + c = 0, β a2x2 − bx − c = 0 0 < α < β

a2x2 + 2bx + 2c = 0 γ γ

https://dl.doubtnut.com/l/_dBcWofhHwOvr
https://dl.doubtnut.com/l/_xj2zPq0riKoy
https://dl.doubtnut.com/l/_OHk1YhUH3UUs


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

γ = (α + β) /2

γ = (α + )
β

2

γ = α

α < γ < β

153. If  and  


where  then the equation  has atleast

A. two real roots

B. two negative roots

C. two positve roots

D. one positive root and oine negative

Answer: A

p(x) = ax2 + bx + c Q(x) = − ax2 + dx + c

ac ≠ 0 P (x). Q(x) = 0

https://dl.doubtnut.com/l/_OHk1YhUH3UUs
https://dl.doubtnut.com/l/_uGphoOPqcimX


Watch Video Solution

154. Let , where a, b  . If f(x) =0 has all its roots

imaginary , then the roots of f(x) + f'(x) + f(x) =0` are :

A. real and distinct

B. imaginary

C. equal

D. rational and equal

Answer: B

Watch Video Solution

f(x) = x2 + ax + b ∈ R

155. a,b,c  is a root of  is a root of 

 and  is a root of  then

A. 

∈ Rα a2x2 + bx + c = 0β

a2x2 − bx − c = 0 γ a2x2 + 2bx + 2c = 0

∣
∣
∣
∣
∣

−β2 β 1

α2 α 1

γ2 2γ 2

∣
∣

∣

∣
∣

= 0

https://dl.doubtnut.com/l/_uGphoOPqcimX
https://dl.doubtnut.com/l/_bU69uYq8yZo8
https://dl.doubtnut.com/l/_LUJufroXjKvt


B. 

C. 

D. none

Answer: A

Watch Video Solution

∣
∣
∣
∣
∣

−β2 β 1

α2 α 1

γ2 γ 2

∣
∣

∣

∣
∣

= 0

∣
∣
∣
∣
∣

−β2 β 1

α2 α 1

γ2 2γ 2

∣
∣

∣

∣
∣

= 0

156. IF the roots of the equation  are real , then a lies

between

A. 1 and 2

B. 

C. 

D. 

Answer: D

x2 + a2 = 8x + 6a

−1 and 8

2 and 8

−2 and 8

https://dl.doubtnut.com/l/_LUJufroXjKvt
https://dl.doubtnut.com/l/_g6hKUhKEvpEr


Watch Video Solution

157. If the equation  in the varable x

has real roots then p can taken any value in the interval

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(cos p − 1)x2 + cos px + sinp = 0

(0, 2π)

( − π, 0)

( − π/2, π/2)

(0, π)

158. If  and the equation  has

rational roos them m is of the form

A. 

m, ∈ Z mx2 + (2m − 1)x : (m − 2) = 0

n(n + 2), n ∈ z

https://dl.doubtnut.com/l/_g6hKUhKEvpEr
https://dl.doubtnut.com/l/_iDmjDvaNy5Yr
https://dl.doubtnut.com/l/_WmibI2AULT66


B. 

C. 

D. none

Answer: B

Watch Video Solution

n(n + 1), n ∈ z

n(n − 2), n ∈ z

159. If a  and the equation  has integral

roots then the values of  are

A. 

B. 

C. 

D. none

Answer: C

Watch Video Solution

∈ Z (x − a)(x − 10) + 1 = 0

a

10, 8

12, 10

12, 8

https://dl.doubtnut.com/l/_WmibI2AULT66
https://dl.doubtnut.com/l/_8RqleSZumA53


160. IF  and the equation  ( where [x] denotes

the greatest ineteger  ) has no integral solution , then all possible

values of a lie in the interval

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

∈ R −3(x − [x]) + a2 = 0

≤ x

( − 2, 1)

( − ∞, − 2) ∪ (2, ∞)

( − 1, 0) ∪ (0, 1)

(1, 2)

161. If the roots of the equation  and 

 are real then K=

A. 8

x2 + kx + 64 = 0

x2 − 8x + k = 0k > 0

https://dl.doubtnut.com/l/_8RqleSZumA53
https://dl.doubtnut.com/l/_Yvu7XgMoCLRU
https://dl.doubtnut.com/l/_AuqvBwmSCpPh


B. 12

C. 16

D. 24

Answer: C

Watch Video Solution

162. IF the roots of the equation  are real and distinct ,

then

A. both roots are greater than 

B. both roots are less than 

C. one of the roots exceeds 

D. none

Answer: C

Watch Video Solution

ax2 + bx + c = 0

−b/2a

−b/2a

−b/2a

https://dl.doubtnut.com/l/_AuqvBwmSCpPh
https://dl.doubtnut.com/l/_uUqbOvp2Qy3S


163. If the roots of  are both positve , then

A. alt0,Clt0

B. alt 0, cgt0

C. agt 0 ,Clt0

D. agt0,Cgt0

Answer: D

Watch Video Solution

ax2 + bx + c = 0

164. IF the roots of  are both negative and b < 0 then

A. alt0,Clt0

B. alt 0, cgt0

C. agt 0 ,Clt0

D. agt0,Cgt0

ax2 + bx + c = 0

https://dl.doubtnut.com/l/_uUqbOvp2Qy3S
https://dl.doubtnut.com/l/_ggepH1BCLUQm
https://dl.doubtnut.com/l/_8MrCcubuPZnU


Answer: A

Watch Video Solution

165. IF the roots of  are equal in magnitude but

opposite in sign then

A. alt0,clt0

B. alt0,cgt 0,bgt0

C. agt 0, b=0,Clt0

D. agt0,b=0,cgt0

Answer: C

Watch Video Solution

ax2 + bx + c = 0

166. if P , q, r are positive and are in A.P the roots of the quadrativ

 real forpx2 + qx + r = 0

https://dl.doubtnut.com/l/_8MrCcubuPZnU
https://dl.doubtnut.com/l/_9yLrxdOV42VT
https://dl.doubtnut.com/l/_QZW4GRNwaHVG


A. 

B. 

C. all p and r

D. no p nad r

Answer: A

Watch Video Solution

∣
∣ − 7∣

∣ ≥ 4√3
p

r

∣
∣
∣

− 7
∣
∣
∣

< 4√3
p

q

167. IF  has real roots  and 

 then

A. 

B. 

C. 

D. none

Answer: A

(1 + k)tan2 x − 4 tanx − 1 + k = 0 tanx1

tanx2

K2 ≤ 5

k2 ≥ 6

k = 3

https://dl.doubtnut.com/l/_QZW4GRNwaHVG
https://dl.doubtnut.com/l/_evCWqIUkeYaL


Watch Video Solution

168. IF 0 < a

A. 

B. 

C. 

D. none

Answer: A

View Text Solution

|α| = |β|

|α| < 1

|β| < 1

169. if 0 < a < b> 0 nad c > 0 then both the roots of the equation

A. are real and negative

B. have negative real parts

2ax2 + 3bx + 5c = 0

https://dl.doubtnut.com/l/_evCWqIUkeYaL
https://dl.doubtnut.com/l/_kWrWXxad0jJA
https://dl.doubtnut.com/l/_OHgxTd2sG1X5


C. have positive real parts

D. none

Answer: B

View Text Solution

170. IF p,q,  { 1,2,3.4} the number of equation of the form

 having real roots is

A. 15

B. 9

C. 7

D. 8

Answer: C

Watch Video Solution

∈

px2 + qx + 1 = 0

https://dl.doubtnut.com/l/_OHgxTd2sG1X5
https://dl.doubtnut.com/l/_dmivY8AMmr3d
https://dl.doubtnut.com/l/_Wc4TfJ8KWkUO


171. If the equation  has equal roots then m=

A. 2 or 3

B. 3 or 4

C. 4 or 5

D. 5 or 6

Answer: B

Watch Video Solution

x2 − 2mx + 7m − 12 = 0

172. IF the roots of  are equal then

m=

A. 4/2,1

B. 

C. 

D. 

(3m + 1)x2 + 2(m + 1)x + m = 0

−1/2, 1

2, 1/2

2, − 1/2

https://dl.doubtnut.com/l/_Wc4TfJ8KWkUO
https://dl.doubtnut.com/l/_PClbD0BYKZro


Answer: B

Watch Video Solution

173. IF the roots of  are equal then k=

A. 4/2,1

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 − 2(5 + 2k)x + 3(7 + 10k)

−1/2, 1

2, 1/2

2, − 1/2

174. If the quadratic expression  will be a

perfect square then a=

x2 − (a − 1)x + (a + )
1

4

https://dl.doubtnut.com/l/_PClbD0BYKZro
https://dl.doubtnut.com/l/_ZazaraUGQRa8
https://dl.doubtnut.com/l/_FkP3CvI32Klp


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

0, 4

2, 6

2, 4

0, 6

175. IF (x-b) +(x-b) (x-c) +(x-a)(x-c)` =0 has equal roots then the

relation between a , b and c is

A. a+b+c=0

B. a=b=c

C. 

D. 

Answer: B

(x − a)

b2 = ac

a + c = 2b

https://dl.doubtnut.com/l/_FkP3CvI32Klp
https://dl.doubtnut.com/l/_X6zhRfAM4ZB9


Watch Video Solution

176. If  and the roots of 

 are equal, then show that 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

c2 ≠ ab

(c2 − ab)x2 − 2(a2 − bc)x + (b2 − ac) = 0

a3 + b3 + c3 = 3abc  or a = 0

a3 + b3 + c3 = 3abc or a = 0

a2 + b2 + c2 = ab + bc + ca

abc = a + b + C

a = b = c

177. The roots of the equation  =0 are

A. 

(a − b)x2 + (b − c)x + (c − a)

a, b,

https://dl.doubtnut.com/l/_X6zhRfAM4ZB9
https://dl.doubtnut.com/l/_kfAn9OJPbHia
https://dl.doubtnut.com/l/_w9eB5Xqj0CKq


B. 

C. 

D. 

Answer: C

Watch Video Solution

b, c

1,
c − a

a − b

1,
b − c

a − b

178. The roots of the equation 

are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

a(b − c)x2 − b(c − a)x + c(a − b) = 0

ab + bc + ca, 1

a + b + c, ab + bc + ca

1,
c(a − b)

a(b − c)

1,
b(c − a)

a(b − c)

https://dl.doubtnut.com/l/_w9eB5Xqj0CKq
https://dl.doubtnut.com/l/_lZFsioIYP1Dy


179. If  has equal roots then 2/q =

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

p(q − r)x2 + q(r − p)x + r(p − q) = 0

+
1

p

1

r

−
1

p

1

r

p + r

pr

180. IF the roots of  are equal then a,

b,c are in

A. AP

B. GP

C. HP

(b − c)x2 + (c − a)x + (a − b) = 0

https://dl.doubtnut.com/l/_lZFsioIYP1Dy
https://dl.doubtnut.com/l/_5rpwKg0LrmQl
https://dl.doubtnut.com/l/_NkmFzw1UczPS


D. AGP

Answer: A

Watch Video Solution

181. IF the roots of =0 are equal then

a, b, c are in

A. A.P

B. G.P

C. H.P

D. none

Answer: C

Watch Video Solution

a(b − c)x2 + b(c − a)x + c(a − b)

https://dl.doubtnut.com/l/_NkmFzw1UczPS
https://dl.doubtnut.com/l/_hhj8Wht3HoCS


182. If the roots of  =0 are equal

then a, b, c are in

A. A.P

B. G.P

C. H.P

D. none

Answer: B

Watch Video Solution

(a2 + b2)x2 − 2b(a + c)x + (b2 + c2)

183. IF the sum of the roots of  is equal to the sum of

the squares of the roots, then……..

A. A.P

B. G.P

C. H.P

ax2 + bx + c = 0

https://dl.doubtnut.com/l/_gyKNuSKJOiS5
https://dl.doubtnut.com/l/_5B2A95deiklN


D. none

Answer: A

Watch Video Solution

184. IF  are the roots of the equation  and 

 then  is

A. positive

B. negative

C. non negative

D. non positive

Answer: B

View Text Solution

α, β ax2 + bx + c = 0

α < − 1, β > 1 1 + +
∣
∣
∣

∣
∣
∣

c

a

b

a

https://dl.doubtnut.com/l/_5B2A95deiklN
https://dl.doubtnut.com/l/_DvU8yVDVdtmX


185. IF  is a root of the equation  then

A. p=6,q=25

B. p=6,q=1

C. p=-6,w=-7

D. p=-6,q=25

Answer: D

Watch Video Solution

3 + 4i x2 + px + q = 0

186. IF  is a root of the equation  then a=

A. 3

B. 

C. 

D. 

3 + i x2 + ax + b = 0

−3

6

−6

https://dl.doubtnut.com/l/_wAo7ppebIESr
https://dl.doubtnut.com/l/_cRxZKToyUkwQ


Answer: D

Watch Video Solution

187. IF one root of the quadratic equation  is 

then 

A. 40a

B. 36a

C. 

D. 

Answer: D

Watch Video Solution

ax2 + bx + c = 0 3 − 4i

a + b + c =

−20a

20a

188. IF  is a root of quadratic equation 

then its roots are

(1 − p) X2 + px + (1 − p) = 0

https://dl.doubtnut.com/l/_cRxZKToyUkwQ
https://dl.doubtnut.com/l/_jwN4b9ukASat
https://dl.doubtnut.com/l/_svOiSewQ5pzl


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

0, 1

−1, 2

0, − 1

−1, 1

189. IF one root of the equation  is 4, while the

equation  has equal roots then the the value of  is

A. 

B. 

C. 3

D. 12

Answer: A

x2 + px + 12 = 0

x2 + px + q = 0 q

49/4

4

https://dl.doubtnut.com/l/_svOiSewQ5pzl
https://dl.doubtnut.com/l/_OJVRfNrfrzX2


Watch Video Solution

190. If  have a common root,

then find p.

A. 11 or 35

B. 22 or 45

C. 40

D. 10

Answer: A

Watch Video Solution

x2 − 6x + 5 = 0 and x2 − 12x + p = 0

191. If  ,  have a common root then

h=

A. 

x2 − hx − 21 = 0 x2 − 3hx + 35 = 0

±2

https://dl.doubtnut.com/l/_OJVRfNrfrzX2
https://dl.doubtnut.com/l/_4DgnFUAIa4xb
https://dl.doubtnut.com/l/_ncbrZTysUIXK


B. 

C. 

D. 

Answer: B

Watch Video Solution

±4

±6

±8

192. The value of a such that  may

have a common root is

A. 6

B. 12

C. 24

D. 32

Answer: C

Watch Video Solution

x2 − 11x + a = 0, x2 − 14x + 2a = 0

https://dl.doubtnut.com/l/_ncbrZTysUIXK
https://dl.doubtnut.com/l/_r0aTSz4BdOni


193. IF the equation  and  have a

common root then that root is

A. 1

B. p+2

C. 2

D. can not be determined

Answer: C

View Text Solution

x2 − x − p = 0 x2 + 2px − 12 = 0

194. IF  (b c) have a coomon root

then b+c=

A. 0

B. 1

x2 + bx + c = 0, x2 + cx + b = 0 ≠

https://dl.doubtnut.com/l/_r0aTSz4BdOni
https://dl.doubtnut.com/l/_EyIqB1vHlzGs
https://dl.doubtnut.com/l/_E2Wbd5OykKAZ


C. 

D. 2

Answer: C

Watch Video Solution

−1

195. IF  and  have a

common root , then b+c=

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ax2 + 2cx + b = 0 ax2 + 2bx + c = 0(b ≠ 0)

−a/4

a/3

a/2

a

https://dl.doubtnut.com/l/_E2Wbd5OykKAZ
https://dl.doubtnut.com/l/_mH8RgT4BGf8b
https://dl.doubtnut.com/l/_LnmcqZWuL5PS


196. IF  and  have a common root ,

then a + b+ c=

A. 0

B. 1

C. ab + bc + ca

D. 3abc

Answer: A

Watch Video Solution

x2 + ax + bc = 0 x2 + bx + ca = 0

197. If the quadratic equations

 have a common

root, then show that 

A. 

B. 

ax2 + 2bx + c = 0 and ax2 + 2cx + b = 0, (b ≠ c)

a + 4b + 4c = 0

−2

−1

https://dl.doubtnut.com/l/_LnmcqZWuL5PS
https://dl.doubtnut.com/l/_3juvL6gsQrgU


C. 0

D. 1

Answer: C

Watch Video Solution

198. If  have one common root and

second has equal roots then  =

A. 0

B. ac

C. a+c

D. a-c

Answer: B

Watch Video Solution

x2 − cx + d = 0, x2 − ax + b = 0

2(b + d)

https://dl.doubtnut.com/l/_3juvL6gsQrgU
https://dl.doubtnut.com/l/_pvJ8uDb4CFTI
https://dl.doubtnut.com/l/_7ueb3HJFCjjd


199. IF  have a common root and the

first equation has equal roots then 

A. 0

B. 1

C. 

D. 

Answer: A

Watch Video Solution

x2 + bx + a = 0, ax2 + x + b = 0

2a2 + b =

−1

2

200. IF the equations  and 

 have a common root then a:b:c is :

A. 

B. 

C. 

x2 + 2x + 3 = 0

ax2 + bx + c = 0, a, b, c ∈ R

1: 3: 2

3: 1: 2

1: 2: 3

https://dl.doubtnut.com/l/_7ueb3HJFCjjd
https://dl.doubtnut.com/l/_pk5iGfrC7kns


D. 

Answer: C

Watch Video Solution

3: 2: 1

201. IF  has a

coomon root then =

A. 

B. 

C. 

D. none

Answer: A

View Text Solution

x2 + P1x + q1 = 0, x2 + p2x + q2 = 0, x2 + p3x + q3 = 0

p2
1 + p2

2 + P 2
3 + 4(q1 + q2 + q3)

2(p1p2 + p2p3 + p3p1

(p2p1 + q2q3 + q3p1)

2(q1p2 + q2p3 + p3q1)

https://dl.doubtnut.com/l/_pk5iGfrC7kns
https://dl.doubtnut.com/l/_cGnBZsqTlQkS


202. The quadratic equation  and  have

one root in common the other roots of the first and second equations

are integers in the ratio 4 : 3 then the common root is

A. 4

B. 3

C. 2

D. 1

Answer: C

Watch Video Solution

x − 6x + a = 0 x2 − cx + 6 = 0

203. If  have a common root then

their other are the roots of the equation

A. 

B. 

x2 + bx + ca = 0, x2 + cx + ab = 0

x2 + 2ax − bc = 0

x2 + ax + bc = 0

https://dl.doubtnut.com/l/_A9sSAchOvwEL
https://dl.doubtnut.com/l/_j8HcgJxG7p3P


C. 

D. none

Answer: B

Watch Video Solution

x2 + ax − bc = 0

204. IF  and  have a common root ,

then their other roots are the roots of

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

x2 + px + q = 0 x2 + qx + p = 0

x2 + x + pq = 0

x2 − x − pq = 0

x2 − x − pq = 0

https://dl.doubtnut.com/l/_j8HcgJxG7p3P
https://dl.doubtnut.com/l/_eLNoMg7sUZSe
https://dl.doubtnut.com/l/_N0WXirmfaVvH


205. IF  is a common factor of the expression

 then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(x − 2)

x2 + ax + b and x2 + cx + d =
b − d

c − a

−2

−1

1

2

206. IF  are the roots of  the roots of 

 then  are the roots of the equation

A. 

B. 

C. 

α, β ax2 + bx + c = 0, α1, − β

a1x
2 + b1x + c1 = 0 α, α

( + )
− 1

x2 + x( + )
− 1

= 0
b

a

b1

a1

b1

c1

b

c

( − )
− 1

x2 − x( + )
− 1

= 0
b

a

b1

a1

b1

c1

b

c

( + )
− 1

x2 − x( + )
− 1

= 0
b

a

b1

a1

b1

c1

b

c

https://dl.doubtnut.com/l/_N0WXirmfaVvH
https://dl.doubtnut.com/l/_l6KgFG4nCynS


D. none

Answer: A

View Text Solution

207. The values of the parameter a for which the quadratic equation

 and  have at least one root

in common are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(1 − 2a)x2 − 6ax − 1 = 0 ax2 − x + 1 = 0

0, 1/2

1/2, 2/9

2/9

0, 1/2, 2/9

https://dl.doubtnut.com/l/_l6KgFG4nCynS
https://dl.doubtnut.com/l/_Se3bhXxEGbOq
https://dl.doubtnut.com/l/_K1dCGorFXCFt


208. IF  has the common factor x-1 then 

A. 0

B. 1

C. 

D. none

Answer: A

Watch Video Solution

x2 + ax + b, x2 + cx + d

a + b − c − d =

−1

209. If  ,  have a common root ,

then the roots of the equation

 =0 are

A. different

B. equal

ax2 + 2bx + c = 0 a1x
2 + 2b1x + c1 = 0

(b2 − ac)x2 + (2bb1 − aa1 − a1c)x + (b2
1 − a1c1)

https://dl.doubtnut.com/l/_K1dCGorFXCFt
https://dl.doubtnut.com/l/_L7unCyIBwIR2


C. zero

D. none

Answer: B

View Text Solution

210. IF  , and 

A.  are both perfect squares

B.  is perfect square and  is not a perfact square

C.  is a pefect square and  is not a perfect square

D. both  and  are not perfect squares

Answer: A

Watch Video Solution

ax2 + 2bx + c = 0 px2 + 2qx + r = 0

b2 − ac and q2 − pr

b2 − ac q2 − pr

q2 − pr b2 − ac

b2 − ac q2 − pr

https://dl.doubtnut.com/l/_L7unCyIBwIR2
https://dl.doubtnut.com/l/_5lnxFyxcpZJO


211. if P,q, r, s  R such that  then

A. both the equation  have real

roots

B. one of the equation  must have

real roots

C. Both the equations  cannot

have real roots

D. none

Answer: B

Watch Video Solution

∈ pr = 2(q + s)

x2 + px + q = 0, x2 + rx + s = 0

x2 + px + q = 0, x2 + rx + s = 0

x2 + px + q = 0, x2 + rx + s = 0

212. IF every pair from the equation 

and  has a common root , them the product of three

common roots is

x2 + px + qr = 0, x2 + qx + rp = 0

x2 + rx + pq = 0

https://dl.doubtnut.com/l/_irMmiOslKNbN
https://dl.doubtnut.com/l/_m2w12zKlrjUe


A. pqr

B. 2pqr

C. 

D. none

Answer: A

Watch Video Solution

p2q2r2

213. IF the equation  and 

 have both the root common , then the

value of  is

A. 0

B. 1

C. 2

D. 3

k(6x2 + 3) + rz + 2x2 − 1 = 0

6k(2x2 + 1) + px + 4x2 − 2 = 0

2r − p

https://dl.doubtnut.com/l/_m2w12zKlrjUe
https://dl.doubtnut.com/l/_1zlDdC5Kj8HC


Answer: A

View Text Solution

214. The equation  and 

 have two roots common . Then a+ b must be

equal to

A. 1

B. 

C. 

D. one of these

Answer: C

Watch Video Solution

ax2 + bx + a = 0(a, b, ∈ R)

x3 − 2x2 + 2x − 1 = 0

−1

0

https://dl.doubtnut.com/l/_1zlDdC5Kj8HC
https://dl.doubtnut.com/l/_jEBRgcth3GWm


215. The value of 'a' for which the equation  and 

 have a common root is

A. 

B. 

C. 1

D. 2

Answer: A

Watch Video Solution

x3 + ax + 1 = 0

x4 + ax2 + 1 = 0

−2

−1

216. IF  are the roots of  and also of 

 and if  are the roots of 

 then n is

A. an odd integer

B. en even integer

α, β x2 + px + q = 0

x2n + P nxn + qn = 0 ,
α

β

β

α

xn + 1 + (x + 1)n = 0

https://dl.doubtnut.com/l/_ivv4ouak3vkU
https://dl.doubtnut.com/l/_QHojjUEbCISH


C. any integer

D. none of these

Answer: B

View Text Solution

217. IF a,b,c are in A. P and if

 and

 have a common root then

A.  are in A.P

B.  are in A.P

C.  are in G.P

D. none of these

Answer: B

View Text Solution

(b − c)2 + (c − a)x + (c − a)x + (a − b) = 0

2(c + a)x2 + (b + c)x = 0

a2, b2, c2

a2, c2, b2

a2, , c2, b2

https://dl.doubtnut.com/l/_QHojjUEbCISH
https://dl.doubtnut.com/l/_uJhTvX8sywwQ


218. If , then x =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

124 + 2x2
= (24√3)

3x2 − 2

±√
13

12

±√
14
5

±√
12

13

±√
5

14

219. for the equation  the roots are

A. One and only one real number

B. real with sum one

C. real with sum zero

D. real with porduct zero

|x|2 + |x| − 6 = 0

https://dl.doubtnut.com/l/_uJhTvX8sywwQ
https://dl.doubtnut.com/l/_gQ5e6NFgxJff
https://dl.doubtnut.com/l/_uEfTuAS038XL


Answer: C

Watch Video Solution

220. The number of real solution  is

A. 4

B. 3

C. 2

D. 10

Answer: A

Watch Video Solution

x2 − 7|x| + 12 = 0

221. The number of real roots of  is

A. 2

∣∣x
2∣∣ − 5|x| + 6 = 0

https://dl.doubtnut.com/l/_uEfTuAS038XL
https://dl.doubtnut.com/l/_RaAYfNRvtjsy
https://dl.doubtnut.com/l/_NVsv24QOxcea


B. 3

C. 4

D. 1

Answer: C

Watch Video Solution

222. If  then x=

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∣∣x
2∣∣ + |x| − 2 = 0

±1

±3

±11

±15

https://dl.doubtnut.com/l/_NVsv24QOxcea
https://dl.doubtnut.com/l/_hZmwFMx5oALQ
https://dl.doubtnut.com/l/_ym193hQ1fe1J


223. The product and sum of the roots of the equation

 are respectively

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∣∣x
2∣∣ − 5|x| − 24 = 0

−64, 0

−24, 5

5, − 24

0, 72

224. The real roots of the equation  are

A. 

B. 

C. 

D. 

∣∣x
2 + 4x + 3∣∣ + 2x + 5 = 0

4, − 1 + √3

−4, − 1 − √3

±41 ± √3

−2, − 4 − 1√3

https://dl.doubtnut.com/l/_ym193hQ1fe1J
https://dl.doubtnut.com/l/_WZM6wbOynAhy


Answer: B

Watch Video Solution

225. The number of real solutions of the equation

is

A. 4

B. 1

C. 3

D. 2

Answer: A

Watch Video Solution

∣∣x ∣2 − 5 ∣ x ∣ + 6 = 0

226. The solutions of  are∣∣x
2 − 2x + 2∣∣ = 3x − 2

https://dl.doubtnut.com/l/_WZM6wbOynAhy
https://dl.doubtnut.com/l/_YfpETo77JghH
https://dl.doubtnut.com/l/_hca1yTSrtOgl


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

4, − 1

−4, − 1

−4, 1

4, 1

227. IF  then x=

A. any real number between 0.7

B. any real number between 2.9

C. any real number between 2.7

D. any real number between 0.9

Answer: B

Watch Video Solution

|x − 2| + 2|x − 9| = 7

https://dl.doubtnut.com/l/_hca1yTSrtOgl
https://dl.doubtnut.com/l/_R3wPm4Xwg63o


228. IF  then x=

A. 

B. 3 or 

C. 

D. none

Answer: D

Watch Video Solution

|x − 2| + 2|x − 3| = 7

2 or 1/3

1/7

2 or 1/5

229. If  then x=

A. 

B. 

C. 

|x + 1| − |x| + 3|x − 1| − 2|x − 2| = x + 2,

x = 2 or x ≤ 2

x = − 5 or x > 5

x = − 2 or x ≥ 2

https://dl.doubtnut.com/l/_R3wPm4Xwg63o
https://dl.doubtnut.com/l/_DNT65EQsTBii
https://dl.doubtnut.com/l/_4BQYsCe2WFbY


D. none of these

Answer: C

View Text Solution

230. The number of real roots of  is

A. 0

B. 2

C. 4

D. none of these

Answer: D

View Text Solution

(7 + 4√3)
|x | − 8

= 14

https://dl.doubtnut.com/l/_4BQYsCe2WFbY
https://dl.doubtnut.com/l/_ezvwdsGEjhkO


231. The sum of all real values of x satisfying the equation

 is

A. 3

B. 

C. 

D. 

Answer: A

Watch Video Solution

(x2 − 5x + 5)
x2 + 4x− 60

= 1

−4

6

5

232. The product of real roots of the equation

 is

A. 

B. 

C. 

|x|6 / 5 − 26|x|3 / 5 − 27 = 0

−310

−312

−312 / 5

https://dl.doubtnut.com/l/_LSCtdj6ib1FT
https://dl.doubtnut.com/l/_EOEfv4YtHJIE


D. 

Answer: A

Watch Video Solution

−321 / 5

233. IF  is a root of the equation  then  is

A. a root

B. not a root

C. may be a root

D. none

Answer: A

Watch Video Solution

α 4x2 + 2x − 1 = 0 4α3 − 3α

234. The value of the continued fraction  is1 +
1

1 + 1
1 + … .

https://dl.doubtnut.com/l/_EOEfv4YtHJIE
https://dl.doubtnut.com/l/_PzqYJOKfneiH
https://dl.doubtnut.com/l/_AoBe6pAZV5Is


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

√5 − 1

2

√5 + 1

2

√5 − 1

2

√5 + 1

3

235. IF , then x=

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

20
3 − 2x2 = (40√5)

3x2 − 2

±√
13

12

±√12/13

±√4/5

±√5/4

https://dl.doubtnut.com/l/_AoBe6pAZV5Is
https://dl.doubtnut.com/l/_1DASSXxXAbSR


236. If  then x=

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x + √x = 6/25

1/5

1/25

1/625

1/125

237. IF  then x=

A. 

B. 

C. 

√x + 1 − sqt(x − 1) = 1

7/11

2/3

5/4

https://dl.doubtnut.com/l/_1DASSXxXAbSR
https://dl.doubtnut.com/l/_JP31QK6DA6gC
https://dl.doubtnut.com/l/_GWcVn7EYEQPF


D. 

Answer: C

Watch Video Solution

−(3/2)

238. The solution set of  is

A. {2}

B. {3}

C. {4}

D. {5}

Answer: B

Watch Video Solution

√x + 1 + √2x − 5 = 3

239. If  , then x=√x + 2 = √3x − 10

https://dl.doubtnut.com/l/_GWcVn7EYEQPF
https://dl.doubtnut.com/l/_v9zTx2q7IERh
https://dl.doubtnut.com/l/_ZRq5lOZit7Ep


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−6

6

3

−3

240. The solution set of  is

A. {2}

B. {3}

C. {4}

D. {5}

Answer: D

View Text Solution

√x + 20 + √x + 4 = 4√x − 1

https://dl.doubtnut.com/l/_ZRq5lOZit7Ep
https://dl.doubtnut.com/l/_nwcMiImF38Ky


241. IF  then x=

A. 2

B. 

C. 

D. none

Answer: C

Watch Video Solution

√3x − 5 = 0

−2

5

3

242. IF  then x=

A. 

B. 

C. 

x2 − 4x − 12√x2 − 4x + 19 + 51 = 0

1 or 3 or − 5 or 9

2 or − 3 or 5 or 7

−3 or 1 or − 7

https://dl.doubtnut.com/l/_nwcMiImF38Ky
https://dl.doubtnut.com/l/_IIbnatbTpXBc
https://dl.doubtnut.com/l/_yLq25Buabwe6


D. none

Answer: A

View Text Solution

243. IF  then x=

A. 

B. 

C. 

D. none

Answer: A

View Text Solution

√x2 + 4a + 5 + √x2 + 4b + 5 = 2(a − b)

(a − b)
2

− 5

2(a + b)

a2 − b2

2(a + b)

(a + b)2

(a + b) − 5

244. the solution set of  isx2 + x − 2 = 0

https://dl.doubtnut.com/l/_yLq25Buabwe6
https://dl.doubtnut.com/l/_eJTj0QDmegah
https://dl.doubtnut.com/l/_0gmRAoKpefXw


Watch Video Solution

245. IF =5 then x=

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2x1 / 3 + 2x− 1 / 3

3 or 1/9

5 or 1/5

2 or 1/5

8 or 1/8

246. IF  then x=

A. 

B. 

C. 

(a + x)2 / 3 + (a − x)2 / 3 = 4(a2 − x2)
1 / 3

±
3a

4√4

±
4a

3√3

±
5a

3√3

https://dl.doubtnut.com/l/_0gmRAoKpefXw
https://dl.doubtnut.com/l/_ahrc0My80Sve
https://dl.doubtnut.com/l/_utdc9AY5Ue7k


D. 

Answer: C

View Text Solution

±
5a

6√6

247. The number of rational roots of

 is

A. 4

B. 3

C. 2

D. 5

Answer: C

Watch Video Solution

(2x + 3)(2x + 5)(x − 1)(X − 2) = 30

https://dl.doubtnut.com/l/_utdc9AY5Ue7k
https://dl.doubtnut.com/l/_3lbB990BSRhT


248. The solution set of  =9 is

A. 

B. 

C. 

D. none

Answer: B

View Text Solution

(x − 1)(X − 3)(x − 5)(x − 7)

{ − 4, 4, 4 ± √10}

{4, 4, 4 ± √10}

{ − 4, − 4, 4 ± √10}

249. The roots of  are

A. 

B. 

C. 

D. 

/(x − 2) =
1

(x − 1)1

1

x − 3

3 ± √2

2 ± √3

6 ± √8

8 ± √6

https://dl.doubtnut.com/l/_lImBlyiKihTz
https://dl.doubtnut.com/l/_8iL72XFE4x1M


Answer: A

View Text Solution

250. The equation  has

A. no root

B. one root

C. two root

D. infinitely many roots

Answer: A

Watch Video Solution

x − = 1 −
2

x − 1

2

x − 1

251. If  then x=

A. 

+ = +
x

b

b

x

a

b

b

a

a2 or b2 /a3

https://dl.doubtnut.com/l/_8iL72XFE4x1M
https://dl.doubtnut.com/l/_cl03JjAfnDu8
https://dl.doubtnut.com/l/_sEeyP6hmPIbb


B. 

C. 

D. 

Answer: B

View Text Solution

a or b2 /a

a2 or b/a

a or b2 /a2

252. A root of the equation  is

A. a

B. b

C. c

D. a+b+c

Answer: C

Watch Video Solution

+ =
a + c

x + a

b + c

x + b

2(a + b + c)

x + a + b

https://dl.doubtnut.com/l/_sEeyP6hmPIbb
https://dl.doubtnut.com/l/_Qp7Uib6yFI7D
https://dl.doubtnut.com/l/_8Slwz7YqtPH1


253. The solution set of  =4 when  is

A. {1/2,1,1,2}

B. {-1/2,-1/2,-1,1,2}

C. { 1/2 ,-1,1,2}

D. {-1/2,1,1,2}

Answer: B

Watch Video Solution

(x + )
2

− (x − )
1

x

3
2

1

x
x ≠ 0

254. Solve 

A. 

B. 

C. 

D. none

2(x + )
2

− 7(x + ) + 5 = 0,  when x ≠ 0
1

x

1

x

{2 ± , }
1

2

1 ± i√3

2

{2, − , }
1

2

1 + I√3

2

{ − 2, , }
1

2

1 ± i√3

2

https://dl.doubtnut.com/l/_8Slwz7YqtPH1
https://dl.doubtnut.com/l/_14vlPxglVv0j


Answer: A

Watch Video Solution

255. Solve 

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

(x2 + ) − 5(x + ) + 6 = 0,  when x ≠ 0
1

x2

1

x

{2 ± }
√3

2

{2, − , }
1

2

1 + I√3

2

{ − 2 ± √3, }
1 + I√3

2

256. If  then x=

A. 

= 3
√1 + x2 + √1 − x2

√1 + x2 − √1 − x2

√2/3

https://dl.doubtnut.com/l/_14vlPxglVv0j
https://dl.doubtnut.com/l/_Umr1iLJqsiou
https://dl.doubtnut.com/l/_oT3cnvbbyFcM


B. 

C. 

D. 

Answer: D

Watch Video Solution

√1/3

√
2

5

√3/5

257. IF  , then x=

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

=
x + √12a − x

x − √12a − x

√a + 1

(√a − 1)

2a2

4a

3a

3a2

https://dl.doubtnut.com/l/_oT3cnvbbyFcM
https://dl.doubtnut.com/l/_ZYdSpGiEzYEz


258. IF  then x=

A. 4 / 11 or 7 /11

B. 3/11 or 5 /11

C. 4/13 or 9 /13

D. none

Answer: C

Watch Video Solution

√ + √ = 2
x

1 − x

1 − x

x

1

6

259. 

A. 

B. 

C. 

D. 

√ + √ = ,  when x ≠ 0 and x ≠ 3
x

x − 3

x − 3

x

5

2

{1, 2}

{1, − 1}

{1, 5}

{4, − 1}

https://dl.doubtnut.com/l/_gCvUsYJOb9fm
https://dl.doubtnut.com/l/_UXUK4fXkcZmV


Answer: D

Watch Video Solution

260. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

√ + √ = 2,  when x ≠ 0 and x ≠ − 1
3x

x + 1

x + 1

3x

{1/2}

{1}

{2}

{3}

261. If  then x=

A. 

2x + 27(2−x) = 12

log2 3 or 2 log2 3

https://dl.doubtnut.com/l/_UXUK4fXkcZmV
https://dl.doubtnut.com/l/_RLkyulREOiuM
https://dl.doubtnut.com/l/_xfSPMhxXwNeD


B. 

C. 

D. none

Answer: A

Watch Video Solution

log2 5 or 2 log2 3

log2 7 or log2 5

262. If  then x=

A. 0

B. 

C. 

D. 

Answer: C

Watch Video Solution

32x − 3x+ 1 − 3x− 1 + 1 = 0

±7

±1

±3

https://dl.doubtnut.com/l/_xfSPMhxXwNeD
https://dl.doubtnut.com/l/_NZyJrcpp4cPh
https://dl.doubtnut.com/l/_kHQ27cQROHtZ


263. Solve  for real x.

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

71 +x + 71 −x = 50

{1, 1}

{1, − 1}

{ − 1, 1}

264. IF  satissfies  and

 then 

A. 0

B. 1

C. 

D. 

e (cos2 x+ cos4 + cos6 x+ . . . ) log 3 y2 − 10y + 9 = 0

(0 < x < π/2) cot2 x =

1/2

9

https://dl.doubtnut.com/l/_kHQ27cQROHtZ
https://dl.doubtnut.com/l/_sNAcAZFzaH4N


Answer: A

Watch Video Solution

265. The equation  =  has

A. exactly two real roots

B. no real root

C. one irrational root

D. one of these

Answer: C

Watch Video Solution

x ( 3 / 4 ) (log2 x)2 + log2 x − 5/4 √2

266. The number of real of the equation  is

A. 0

+ 1 =
2x − 3

x − 1

6x2 − x − 6

x − 1

https://dl.doubtnut.com/l/_sNAcAZFzaH4N
https://dl.doubtnut.com/l/_i1I5H2rOECLp
https://dl.doubtnut.com/l/_Pc6DLAvr4h5M


B. 1

C. 2

D. none

Answer: B

Watch Video Solution

267. The equation  has

A. 0

B. 1

C. 4

D. 

Answer: A

Watch Video Solution

esin x − e− sin x − 4 = 0

∞

https://dl.doubtnut.com/l/_Pc6DLAvr4h5M
https://dl.doubtnut.com/l/_QyQXsplksgy1
https://dl.doubtnut.com/l/_M5J3LhnuzBQM


268. The number of solutions of the system of equation given below is :

A. 

B. 

C. 4

D. 8

Answer: D

View Text Solution

∞

2

269. The number of solution of the equation 

belonging to the domin of  is

A. 1

B. 2

C. 3

D. 4

9x2 − 18|x| + 5 = 0

loge{(x + 1)(x + 2)}

https://dl.doubtnut.com/l/_M5J3LhnuzBQM
https://dl.doubtnut.com/l/_4ZFogSPx1goG


Answer: C

Watch Video Solution

270. The number of solutions of the equation

 is

A. 0

B. 1

C. 2

D. infinitely many

Answer: A

Watch Video Solution

5x + 5−x = log10 25, x ∈ R

271. IF the equation ax+by=1,  have only one solution thencx2 + dy2 = 1

+ =
a2

c

b2

d

https://dl.doubtnut.com/l/_4ZFogSPx1goG
https://dl.doubtnut.com/l/_g5Xcw5xPKdLg
https://dl.doubtnut.com/l/_0toHT7x2Jwuf


A. 1

B. 

C. 

D. 2

Answer: A

Watch Video Solution

−1

0

272. If a+b+c=0 then the quadratic equation  has at

least one root in

A. 

B. 

C. 

D. 

Answer: B

3ax2 + 2bx + c = 0

[1, 2]

[0, 1]

[ − 1, 1]

[1, 3]

https://dl.doubtnut.com/l/_0toHT7x2Jwuf
https://dl.doubtnut.com/l/_YMt1xorfXQ1D


Watch Video Solution

273. If  then the equation  has atlest

one root in

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2a + 3b + 6c = 0 ax2 + bx + c = 0

(0, 1)

(1, 1)

[ − 1, 1]

[1, 2]

274. Let P(x) be a polynomial with integral coefficients . If there exists two

intefers a and b such that p(a) - p(b) =1 then

A. both a and b must be even

https://dl.doubtnut.com/l/_YMt1xorfXQ1D
https://dl.doubtnut.com/l/_zTW9pPEbaFDI
https://dl.doubtnut.com/l/_aYEwWxEqleXT


B. both a and b must be odd

C. a and b are two consecutive intergers

D. none of these

Answer: C

View Text Solution

275. IF 0< a

A. real and distinct roots out of which one lies between c and d

B. real and distinct roots out of which one lies between a and b

C. real and distinct roots out of which one lies between b and c

D. non - real roots

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_aYEwWxEqleXT
https://dl.doubtnut.com/l/_d1GWMmzPzmtz
https://dl.doubtnut.com/l/_ARYgwzYY7fvt


276.  and  are the roots of the equation . If

the point  lies on the curve  , then the roots of the given

equaion are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

α β x2 + px + p3 = 0, (p ≠ 0)

(α, β) x = y2

4, − 2

4, 2

1, − 1

1, 1

277. Find all number which exceed their square root by 12

A. 8

B. 16

C. 24

https://dl.doubtnut.com/l/_ARYgwzYY7fvt
https://dl.doubtnut.com/l/_tZcLv8Xqcr5q


D. 32

Answer: B

Watch Video Solution

278. The two consecutive positive odd integers such that the sum of their

squares is 290 are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

5, 7

9, 11

11, 13

15, 17

https://dl.doubtnut.com/l/_tZcLv8Xqcr5q
https://dl.doubtnut.com/l/_udmhy5t8arfE


279. Find two consecutive positive even integers, the sum of whose

squares is 340.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

10, 20

12, 14

14, 18

16, 20

280. The number having two digits such that it is 4 times the sum and

three times the product of its two digits are

A. 8

B. 16

C. 24

https://dl.doubtnut.com/l/_1XkrJ2WTv2JD
https://dl.doubtnut.com/l/_jKHF6b1YEQK9


D. 32

Answer: C

Watch Video Solution

281. A number of two digit s whose product is 30 . If the digits are

interchanged the resulting number will exceed the previous by 9. the

number is

A. 56

B. 54

C. 38

D. 28

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_jKHF6b1YEQK9
https://dl.doubtnut.com/l/_deUz7Mo4d8S0
https://dl.doubtnut.com/l/_v6jz2EYvw5Wl


282. The sum of the ages of a father and a son is 45 years . Five years ago

the product of their ages was four times the father's age at that time .

Their present ages are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

32, 8

28, 7

36, 9

40, 10

283. The cost of a piece of cable wire is Rs. 35/-, If the length of the piece

of wire is 4 meters more and each meter costs, Rs. 1/- less, the cost would

remain un-changed. What is the length of the wire ?

A. 10 metres

B. 12 metes

https://dl.doubtnut.com/l/_v6jz2EYvw5Wl
https://dl.doubtnut.com/l/_9yXAK0lriif7


C. 15 metres

D. 20 metres

Answer: A

Watch Video Solution

284. One fourth of a herd of goats was seen in the forest. Twice the

square root of the number in the herd had gone up the hill and the

remaining 15 goats were on the bank of the river. Find the total number

of goats.

A. 26

B. 28

C. 34

D. 36

Answer: D

W t h Vid S l ti

https://dl.doubtnut.com/l/_9yXAK0lriif7
https://dl.doubtnut.com/l/_WF4MXF8X55jY


Watch Video Solution

285. In the interior of a forest there are some apes . Of their total number

square of  th are playing at one place . The remaining are on the hills .

The total number of apes is

A. 27 or 54

B. 

C. 

D. 

Answer: A

View Text Solution

1

9

16 or 32

28 or 56

185 or 36

286. In a cricket match Anil took one wicket less than twice the number of

wickets taken by Ravi. If the product of the number of wickets taken by

them is 15, find the number of wickets taken by each of them.

https://dl.doubtnut.com/l/_WF4MXF8X55jY
https://dl.doubtnut.com/l/_yOFGldYFUCQa
https://dl.doubtnut.com/l/_GCe5aTJfC1By


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

5, 3

3, 5

2, 6

7, 9

287. Some points on a plane are marked and they are connected pair wise

by line segments . IF the total number of line segments formed is 10 then

the number of marked points on the plane is

A. 2

B. 3

C. 4

D. 5

https://dl.doubtnut.com/l/_GCe5aTJfC1By
https://dl.doubtnut.com/l/_WBIW8DELJ0Bb


EXERCISE 1B (QUADRATIC EXPRESSIONS)

Answer: D

Watch Video Solution

288. The sides of a right angled triangle containing the right angle are 5x

cm and ( 3x-1) cm . If the area of the triangle is 60 sq . Cm the length of

the sides of the triangles are

A. 8 cm , 15 cm , 17 cm

B. 6cm , 12 cm , 18 cm

C. 10 cm , 18 cm , 20 cm

D. 9 cm , 116 , 24 cm

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_WBIW8DELJ0Bb
https://dl.doubtnut.com/l/_wLn25sMgaxLU
https://dl.doubtnut.com/l/_A0GBFmX47wGS


1. If  or  then the value of  is

A. zero

B. positive

C. negative

D. not determined

Answer: B

Watch Video Solution

x < 3 x > 4 x2 − 7x + 12

2. IF  then the value of  is

A. zero

B. positive

C. negative

D. not determined

x ∈ R x2 − 6x + 10

https://dl.doubtnut.com/l/_A0GBFmX47wGS
https://dl.doubtnut.com/l/_LELHqpGVtNy5


Answer: B

Watch Video Solution

3. IF  then the value of ` 2x ^2 - 5 x -3 is

A. zero

B. positive

C. negative

D. not determined

Answer: C

Watch Video Solution

−1/2 < x < 3

4. if  then the value of  is

A. zero

x ≠ 3/2 4x2 − 12x + 9

https://dl.doubtnut.com/l/_LELHqpGVtNy5
https://dl.doubtnut.com/l/_3isxmyK8eJdN
https://dl.doubtnut.com/l/_0NXDlmyDZ3E7


B. positive

C. negative

D. not determined

Answer: B

Watch Video Solution

5. IF  then the value of  is

A. zero

B. positive

C. negative

D. not determined

Answer: C

Watch Video Solution

x ∈ R 4x − x2 − 6

https://dl.doubtnut.com/l/_0NXDlmyDZ3E7
https://dl.doubtnut.com/l/_5Ka0aGgPsHpv
https://dl.doubtnut.com/l/_u4S3Md8Rdjkw


6. IF  then the value of  is

A. zero

B. positive

C. negative

D. not determined

Answer: C

Watch Video Solution

4 < x < 8 −7x2 + 8x − 9

7. If  then the value of  is

A. zero

B. positive

C. negative

D. not determined

x ∈ R −7x2 + 9x − 9

https://dl.doubtnut.com/l/_u4S3Md8Rdjkw
https://dl.doubtnut.com/l/_gCP2u4z3n90t


Answer: C

Watch Video Solution

8. if  and  , then the curve 

A. Cuts the x- axis

B. touches the x- axis lies below it

C. lies entirely above the x- axis

D. touches the x- axis and lies above it

Answer: D

Watch Video Solution

a > 0 b2 − 4ac = 0 y = ax2 + bx + c

9.  has minimum at x=

A. 2

x2 − 2x + 10

https://dl.doubtnut.com/l/_gCP2u4z3n90t
https://dl.doubtnut.com/l/_J3bo4GiZLikW
https://dl.doubtnut.com/l/_iFjdOdN7wHVJ


B. 

C. 

D. 

Answer: C

Watch Video Solution

−1

1

−2

10.  has maximum at x=

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3x − 5x2 + 12

2/5

−1/5

3/10

−3/10

https://dl.doubtnut.com/l/_iFjdOdN7wHVJ
https://dl.doubtnut.com/l/_jrAUWLOtfobt
https://dl.doubtnut.com/l/_hXWXwhZZXNNm


11. if  has maximum value at  then a=

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2x − 7 − 5x2 x = a

−1/5

1/5

34/5

−34/5

12. the minimum value of  is

A. 17

B. 

C. 

D. 

x2 − 8x + 17, ∀x ∈ R

−1

1

2

https://dl.doubtnut.com/l/_hXWXwhZZXNNm
https://dl.doubtnut.com/l/_UMKnOOqZzgPC


Answer: C

Watch Video Solution

13. The maximum value of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

10x − 5x2 − 1

−1

−1/5

2

4

14. the maximum value of  is

A. 

(x − a)(b − x)

(a2 − b)
2

/4

https://dl.doubtnut.com/l/_UMKnOOqZzgPC
https://dl.doubtnut.com/l/_ByS2TyLx05zC
https://dl.doubtnut.com/l/_DYcshg0Bgxaz


B. 

C. a

D. b

Answer: A

Watch Video Solution

(a − b)2

15. The maximum value of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

a2 − abx − b2x2

5a2 /4

a2 /2

a

−a

https://dl.doubtnut.com/l/_DYcshg0Bgxaz
https://dl.doubtnut.com/l/_TVaAxZHv9oui
https://dl.doubtnut.com/l/_peO5mQIA5Ygd


16. the minimum value of  is

A. 1

B. 7

C. 

D. 

Answer: D

Watch Video Solution

(x − )
2

+
5

3

7
2

7/5

7/2

17. the maximum value of  is

A. 

B. 

C. 

D. 

− (x − )
2

7
5

2

3

11/3

7/5

7

5

https://dl.doubtnut.com/l/_peO5mQIA5Ygd
https://dl.doubtnut.com/l/_Gf9uWHz4ve5b


Answer: B

Watch Video Solution

18. the maximum value of  is

A. c

B. 

C. 

D. 

Answer: D

Watch Video Solution

c + 2bx − x2

b2

b2 − c

c − b2

b2 + c

19. the minimum value of the quadratic expression  is

A. 

x2 + 2bx + c

cb2

https://dl.doubtnut.com/l/_Gf9uWHz4ve5b
https://dl.doubtnut.com/l/_CBsiArgkzKft
https://dl.doubtnut.com/l/_PxPUqIKUR5nD


B. 

C. 

D. 

Answer: D

Watch Video Solution

c2b

c + b2

c − b2

20. the expression  has minimum value m at  . The

ordered pair  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2x2 + 4x + 7 x = α

(α, m)

(1, 5)

(1, − 5)

( − 1, − 5)

( − 1, 5)

https://dl.doubtnut.com/l/_PxPUqIKUR5nD
https://dl.doubtnut.com/l/_q1d4crE7zkhw


21. The extreme value of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 − 5x + 6

1/4

−1/4

1/2

−1/2

22. Find the changes in the sign of the following expressions and find

their extreme values. 

A. 

B. 

15 + 4x − 3x2

49/3

−49/3

https://dl.doubtnut.com/l/_q1d4crE7zkhw
https://dl.doubtnut.com/l/_7R1mgd5p2YIh
https://dl.doubtnut.com/l/_MOgbjPkYa9qZ


C. 

D. 

Answer: A

Watch Video Solution

47/3

−47/3

23. If  are in H.P. then 

=

A. 

B. 

C. 

D. none

Answer: D

Watch Video Solution

a1, a2, …an

a1. a2 + a2. a3 + a3. a4 + … + an− 1. an

a1 + a2 + . . . + an

(a1 + a2 + a3 + . . . + an)

n(a1 + a2 + . . . + an)

https://dl.doubtnut.com/l/_MOgbjPkYa9qZ
https://dl.doubtnut.com/l/_1XIo3RJWd7Q1
https://dl.doubtnut.com/l/_Mlofqqjn1gTl


24. IF a,b,c are positive then the least value of

 is

A. 4

B. 3

C. 7

D. 9

Answer: D

Watch Video Solution

(a + b + c)(1/a + 1/b + 1/c)

25. If a,b,c are distinct positive numbers then the 3expression

 is

A. positive

B. negative

C. nonpositive

(b + c − a)(c + a − b)(a + b − c) − abc

https://dl.doubtnut.com/l/_Mlofqqjn1gTl
https://dl.doubtnut.com/l/_grHfi8UUSm3i


D. nonnegative

Answer: C

View Text Solution

26. IF  then the range of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

a2 + b2 + c2 = 1 ab + bc + ca

[1/2, 2]

[ − 1/2]

[ − 1/2, 1]

[1, 3/2]

27. In triangle ABC, range of  is (a,b,c are sides of triangle)
a2 + b2 + c2

ab + bc + ca

https://dl.doubtnut.com/l/_grHfi8UUSm3i
https://dl.doubtnut.com/l/_6oUXarZsSvuz
https://dl.doubtnut.com/l/_aWTPdwB7xwzK


A. [1,2)

B. 

C. zero

D. none

Answer: A

Watch Video Solution

( − ∞, 1] ∪ [2, ∞)

28. The solution set of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−x2 + 3x + 4 > 0

( − 1, 4)

( − ∞, − 3] ∪ [7, ∞)

( − ∞, 3) ∪ (5, ∞)

[ − 4, 1]

https://dl.doubtnut.com/l/_aWTPdwB7xwzK
https://dl.doubtnut.com/l/_w36ti0En5oYh


29. the solution set of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 − 4x − 21 ≥ 0

( − 1, 4)

( − ∞, − 3] ∪ [7, ∞)

( − ∞, 3) ∪ (5, ∞)

[ − 4, 1]

30. the solution set of  is

A. 

B. 

C. 

1 ≤ x2 − 2x

( − ∞, 1 − √2] ∪ [1 + √2, ∞)

( − ∞, − 3) ∪ (1 + √2, ∞)

( − 1, 1/2)

https://dl.doubtnut.com/l/_w36ti0En5oYh
https://dl.doubtnut.com/l/_nmWYysJHiXxV
https://dl.doubtnut.com/l/_XusmNprBwT39


D. 

Answer: A

Watch Video Solution

[ − 1, 1/2]

31. the solution set of  is

A. 

B. R

C. 

D. 

Answer: B

Watch Video Solution

x2 > 4x + 5

( − ∞1√2] ∪ [1 + √2, ∞)

( − 1, 1/2)

[ − 1, 1/2]

32. The solution set of  is2x2 − 4x + 5 > 0

https://dl.doubtnut.com/l/_XusmNprBwT39
https://dl.doubtnut.com/l/_jxf16Os8QTYA
https://dl.doubtnut.com/l/_42wuMIxH0GPu


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

[ − 1/2, 3]

R

( − 2, 1/2)

ϕ

33. the solution set of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 − 2x + 2 < 0

[ − 1/2, 3]

R

( − 2, 1/2)

ϕ

https://dl.doubtnut.com/l/_42wuMIxH0GPu
https://dl.doubtnut.com/l/_gtzjbRbbja7u


34. the set of all solutions of the inequation  in R is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 − 2x + 5 ≤ 0

R − ( − ∞, − 5)

R − (5, ∞)

ϕ

R − ( − ∞, − 4)

35. The set of solutions of  is

A. 

B. 

C. 

|x|2 − 5|x| + 4 < 0

( − 4, − 1)

(1, 4)

( − 4, − 1) ∪ (1, 4)

https://dl.doubtnut.com/l/_gtzjbRbbja7u
https://dl.doubtnut.com/l/_5TUZ0oOAgPRm
https://dl.doubtnut.com/l/_J3cOBq5u4nbZ


D. 

Answer: C

Watch Video Solution

( − 4, 4)

36. if the expression  is positive if x lies in

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4x − 5x2 + 1

( − 1/5, 1)

(1, 1)

ϕ

R

37. the expression  is positive if x lies in−7x2 + 8x − 9

https://dl.doubtnut.com/l/_J3cOBq5u4nbZ
https://dl.doubtnut.com/l/_IKsCETYwUc6S
https://dl.doubtnut.com/l/_gjpU2s2GXSmx


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

( − ∞, 1) ∪ (2, ∞)

( − ∞, 2) ∪ (3, ∞)

ϕ

R

38. the expression  is negative is x lies in

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 − 5x − 6

( − 1, 6)

(2, 5)

( − 3, 1/2)

R

https://dl.doubtnut.com/l/_gjpU2s2GXSmx
https://dl.doubtnut.com/l/_u4yY0mn0g3kF


39. The greatest positive integral value of x for which 200-x ( 10 + x) is

positive is

A. 11

B. 10

C. 9

D. none

Answer: C

Watch Video Solution

40. The least integral value of x for which 33-x (2+3x )gt 0` is

A. 

B. 

C. 

−11

−3

−2

https://dl.doubtnut.com/l/_u4yY0mn0g3kF
https://dl.doubtnut.com/l/_se9rLWizhqZB
https://dl.doubtnut.com/l/_ayvdDWfYTHKi


D. 

Answer: B

Watch Video Solution

−1

41. The integer k for which the inequality

 is valid for any x, is

A. 2

B. 3

C. 4

D. 5

Answer: B

Watch Video Solution

x2 − 2(4k − 1)x + 15k2 − 2k − 7 > 0

https://dl.doubtnut.com/l/_ayvdDWfYTHKi
https://dl.doubtnut.com/l/_M5Ssui55kkdr


42. IF the difference between the roots the roots of the equation

 is less than  then the set of possible values of a is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + ax + 1 = 0 √5

( − 3, 3)

( − 3, ∞)

(3, ∞)

( − ∞, − 3)

43. IF  then x lies in the interval

A. 

B. 

C. 

D. 

x2 + 6x − 27 > 0 − x2 + 3x + 4 > 0

(3, 4)

[3, 4]

( − ∞, 3] ∪ [4, ∞)

( − 9, 4)

https://dl.doubtnut.com/l/_ZPhYwBdD9Nax
https://dl.doubtnut.com/l/_ZBnhr0MZQTl1


Answer: A

Watch Video Solution

44. The set of values of x for which the inequalities

 hold simultancously , is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 − 3x − 10 < 0, 10x − x2 − 16 > 0

( − 2, 5)

(2, 8)

( − 2, 8)

(2, 5)

45. The set of values of x for which the inequalities

 hold simultancously , isx2 − 2x + 3 > 0, 2x2 + 4x + 3 > 0

https://dl.doubtnut.com/l/_ZBnhr0MZQTl1
https://dl.doubtnut.com/l/_FrunUtCum7cg
https://dl.doubtnut.com/l/_aadfeHcnPd1J


A. 

B. 

C. 

D. R

Answer: D

Watch Video Solution

( − 4, 1)

( − 4, − 3] ∪ [ − 2, 1)

( − 4, − 3) ∪ ( − 2, 1)

46. IF  then x lies in the interval

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 − 2x + 3 > 0, 2x2 + 4x + 3 > 0

(1, 2)

R

(2, 5)

ϕ

https://dl.doubtnut.com/l/_aadfeHcnPd1J
https://dl.doubtnut.com/l/_nGvB8NZiQpki


47. the greatest negative integer satifying  and and x^2

gt4` is

A. 1

B. 2

C. 3

D. 

Answer: D

Watch Video Solution

x2 − 4x − 77 < 0

−3

48. If  then the least value of  is

A. 2

B. 

C. 

x > 0 x +
1

x

−2

1

https://dl.doubtnut.com/l/_nGvB8NZiQpki
https://dl.doubtnut.com/l/_ixQNuqL9GK1U
https://dl.doubtnut.com/l/_DDtGN8fU1Zoc


D. 

Answer: A

Watch Video Solution

0

49. the least value of  is

A. 0

B. 

C. 

D. 

Answer: C

Watch Video Solution

cos2 x + sec2 x

−2

2

−1

50. The range of  is
x2 + 2x + 1

x2 + 2x − 1

https://dl.doubtnut.com/l/_DDtGN8fU1Zoc
https://dl.doubtnut.com/l/_4dZALsJRGoqa
https://dl.doubtnut.com/l/_XTN4HXG0QAgU


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( − ∞, 0] ∪ (1, ∞)

[1/2, 2]

( − ∞, − 2/9] ∪ (1, ∞)

( − ∞, − 6) ∪ ( − 2, ∞)

51. The range of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 − 2x + 9

x2 + 2x + 9

( − ∞, 0] ∪ (1, ∞)

[1/2, 2]

( − ∞, − 2/9] ∪ (1, ∞)

( − ∞, − 6) ∪ ( − 2, ∞)

https://dl.doubtnut.com/l/_XTN4HXG0QAgU
https://dl.doubtnut.com/l/_qRewWifXvwMy


52. The range of  is

A. 

B. 

C. 

D. R

Answer: C

Watch Video Solution

x2 − 2x + 3

x2 − 2x − 8

[ − 9/2, 1/2]

( − ∞, 1] ∪ [2, ∞)

( − ∞, − 9] ∪ [ − 1, ∞)

53. The range of  is

A. 

B. 

C. 

x2 − 2x + 3

x2 − 2x − 8

[ − 9/2, 1/2]

( − ∞, 1] ∪ [2, ∞)

( − ∞, − 9] ∪ [ − 1, ∞)

https://dl.doubtnut.com/l/_qRewWifXvwMy
https://dl.doubtnut.com/l/_pi6Tmz0DTubT
https://dl.doubtnut.com/l/_lbULv9tmISxM


D. R

Answer: D

Watch Video Solution

54. IF x is real then the value of  lies in the interval

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 − 3x + 4

x2 + 3x + 4

[ , 3]
1

3

[ , 5]
1

5

[ , 6]
1

6

[ , 7]
1

7

https://dl.doubtnut.com/l/_lbULv9tmISxM
https://dl.doubtnut.com/l/_0fT8APlAF4xH


55. Show that none of the values of the function  over R

lies between 5 and 9.

A. does not lie

B. lies

C. none

D. cannot be determined

Answer: A

Watch Video Solution

x2 + 34x − 71

x2 + 2x − 7

56. IF x is real , then  has _____ values between b and c

A. no real

B. real

C. none

x2 − bc

2x − b − c

https://dl.doubtnut.com/l/_CQ2uktX8Szbf
https://dl.doubtnut.com/l/_orMtouTZmXXd


D. cannot be determined

Answer: A

Watch Video Solution

57. If x is real then  ____ between -2 and +2

A. lies

B. does not lie

C. none

D. cannot be determined

Answer: B

Watch Video Solution

y =
2x2 + 6x + 5

x2 + 3x + 2

58. If  is real, then the minimum value of  isx y =
x2 − x + 1

x2 + x + 1

https://dl.doubtnut.com/l/_orMtouTZmXXd
https://dl.doubtnut.com/l/_QAMqhlttEne3
https://dl.doubtnut.com/l/_Jb8MpEqtwsQ6


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1/3

3

1/2

1

59. the ( relative ) minimum value of  is

A. 

B. 

C. 

D. 0

Answer: B

View Text Solution

x2 − 3x + 2

x2 + 3x + 2

−1/11

−17 + 12√2

−17 − 12√2

https://dl.doubtnut.com/l/_Jb8MpEqtwsQ6
https://dl.doubtnut.com/l/_WUSLTj3RuFQ4


60. For , the least value of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x ∈ R
x2 − 6x + 5

x2 + 2x + 1

−1

−
1

2

−
1

4

−
1

3

61. If x  R, then the range of  is

A. 

B. 

C. 

∈
x

x2 − 5x + 9

−1/11

−1

1/11

https://dl.doubtnut.com/l/_WUSLTj3RuFQ4
https://dl.doubtnut.com/l/_6qmV4aCHzitM
https://dl.doubtnut.com/l/_5z583Giek1fH


D. 

Answer: D

Watch Video Solution

1

62. If x is real , then the maximum value of  is

A. 2

B. 4

C. 6

D. 8

Answer: B

Watch Video Solution

x2 + 14x + 9

x2 + 2x + 3

63. the limits of  are
6x2 − 18x + 21

6x2 − 18x + 17

https://dl.doubtnut.com/l/_5z583Giek1fH
https://dl.doubtnut.com/l/_Ed71UOqBZejX
https://dl.doubtnut.com/l/_TKVQcljfLe6m


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

1, 15/7

1, 15

2, 3/5

1, 7/15

64. If x is real, then the range of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + 2x + 1

x2 + 2x + 7

0, 1

1, 2

0, 2

2, 3

https://dl.doubtnut.com/l/_TKVQcljfLe6m
https://dl.doubtnut.com/l/_GJubXHZ4cbL7


65. IF  takens all real values for x  , then

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

x − a

x2 − 3x + 2
∈ R

a = 2

a < 2

1 < a < 2

1 ≤ a ≤ 2

66. IF  then  can take all real values if

A. 

B. 

C. 

x ∈ R
x2 + 2x + a

x2 + 4x + 3a

a ∈ (0, 2)

a ∈ [0, 1]

a ∈ [ − 1, 1]

https://dl.doubtnut.com/l/_GJubXHZ4cbL7
https://dl.doubtnut.com/l/_XVYXjNmsfI5a
https://dl.doubtnut.com/l/_MUkHwNCpGwbM


D. none

Answer: B

View Text Solution

67. If  then

A. 

B. 

C. 

D. none

Answer: D

Watch Video Solution

Y = tanx cot 3x, x ∈ R,

< y < 1
1

3

≤ y ≤ 1
1

3

≤ y ≤ 3
1

3

68. IF  then  connot lie betweenx ∈ R
2a(x − 1)sin2 α

x2 − sinα

https://dl.doubtnut.com/l/_MUkHwNCpGwbM
https://dl.doubtnut.com/l/_qcGlZUKywLGF
https://dl.doubtnut.com/l/_Otq1LpoM3ZuN


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

a sin2 α, a cos2 α

a sin2(α/2)a, cos2(α/2)

2a sin2 α, 2a cos2 α

2a sin2(α/2, 2a cos2(α/2)

69. If  then the expression  ___

negative values for any real value of x

A. does not take

B. take

C. none

D. cannot be determined

Answer: A

a ≠ b x2 − (a + b)x + (a2 − ab + b2)

https://dl.doubtnut.com/l/_Otq1LpoM3ZuN
https://dl.doubtnut.com/l/_FBc9SseOwKCt


View Text Solution

70. If  are the roots of  where a is a

variable then the least value of  is

A. 2

B. 3

C. 5

D. 7

Answer: C

Watch Video Solution

α, β x2 − (a − 2)x − (a + 1) = 0

α2 + β2

71. IF the sum of the squares of the roots of the equation

 is least , then =

A. 

x2 − (sinα − 2)x − (1 + sinα) = 0 α

π/4

https://dl.doubtnut.com/l/_FBc9SseOwKCt
https://dl.doubtnut.com/l/_Cs7oFaJe0fAv
https://dl.doubtnut.com/l/_ZyM0eDDZBjqr


B. 

C. 

D. 

Answer: C

Watch Video Solution

π/3

π/2

π/6

72. The value of a for which the sum of the squares of the roots of the

equation  assume the least value is

A. 0

B. 1

C. 2

D. 3

Answer: B

Watch Video Solution

x2 − (a − 2)x − a − 1 = 0

https://dl.doubtnut.com/l/_ZyM0eDDZBjqr
https://dl.doubtnut.com/l/_y3TPwpUzL9Fp


73. IF the roots of the equation  be imaginary , then for

all real values of x , the experssion  is

A. less than 4ab

B. greater than - 4ab

C. less than - 4ab

D. greater than 4 ab

Answer: B

Watch Video Solution

bx2 + cx + a = 0

3b2x2 + 6bcx + 2c2

74. The smallest value of of the constant  for which 

 for all , is

A. 

B. 

m > 0

f(x) = 9mx − 1 + ≥ 0
1

x
x > 0

1

9

1

16

https://dl.doubtnut.com/l/_y3TPwpUzL9Fp
https://dl.doubtnut.com/l/_hqhC65KIF5dA
https://dl.doubtnut.com/l/_W3NTPFfy0JLP


C. 

D. 

Answer: C

Watch Video Solution

1

36

1

81

75. The real values of a for which  takes real values

are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y = √
(x + 1)(x − 3)

x − 2

−1 ≤ x < 2 or x ≥ 3

1 < x < 2 or x > 2

x < 2 or x > 3

x > 2

https://dl.doubtnut.com/l/_W3NTPFfy0JLP
https://dl.doubtnut.com/l/_cKH9PsrCJf0D
https://dl.doubtnut.com/l/_xDuxQ3urJPYJ


76. IF  then the minimum value of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x > − c
(a + x)(b + x)

c + x

√a − c + √b − c

√a − c − √b − c

(√a − c + √b − c)
2

(√a − c − √b − c)
2

77. IF  then the minimum value of  is

A. 

B. 

C. 

D. 

x > − c
(a + x)(b + x)

c + x

√a − c + √b − c

√a − c − √b − C

(√a − c + √b − c)
2

(√a − c − √b − c)
2

https://dl.doubtnut.com/l/_xDuxQ3urJPYJ
https://dl.doubtnut.com/l/_e82ClCfoMlTA


Answer: D

Watch Video Solution

78. For real x , the function  will assume all real values

provided

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

(x − a)(x − b)

x − c

a < b < c

b < c < a

c < a < b

79. The range of values of x which satisfy  and  < 4

are

5x + 2 < 3x + 8
x + 2

x − 1

https://dl.doubtnut.com/l/_e82ClCfoMlTA
https://dl.doubtnut.com/l/_RH4BfPGIfCgv
https://dl.doubtnut.com/l/_RJv4UHxk28N1


A. '(-oo ,1) U(2,3)`

B. 

C. 

D. 

Answer: A

Watch Video Solution

(0, ∞)

( − ∞, 2)

(1, 3)

80. The range of values of x for which the inequality 

holds is

A. 

B. 

C. 

D. none

Answer: C

<
x − 1

4x + 5

x − 3

4x − 3

( − 4/3, 5/8)

( − 4/3, 1/2)

( − 5/4, 3/4)

https://dl.doubtnut.com/l/_RJv4UHxk28N1
https://dl.doubtnut.com/l/_uQz488r3qPWb


Watch Video Solution

81. The values of x for which  holds , lie in

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

<
x − 1

3x + 4

x − 3

3x − 2

( − ∞, − 5/4)

( − 4/3, 2/3)

(3/4, ∞)

( − ∞, − 5/4 ∪ (3/4, ∞)

82.  is equal to

A. 

B. 

C. 

{x ∈ R : − < 0}
14x
x + 1

9x − 30

x − 4

( − 1, 4)

(1, 4) ∪ (5, 7)

(1, 7)

https://dl.doubtnut.com/l/_uQz488r3qPWb
https://dl.doubtnut.com/l/_xbriSXOEXujB
https://dl.doubtnut.com/l/_Z8yxL7h0Q24i


D. 

Answer: D

Watch Video Solution

( − 1, 1) ∪ (4, 6)

83. IF the inequation  then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

√3x − 8 < − 2

ϕ

[1, 2]

[12, ∞)

(1, 12]

84. if the inequation  then√x + 5 < − x

https://dl.doubtnut.com/l/_Z8yxL7h0Q24i
https://dl.doubtnut.com/l/_nSQB1oiSZSxy
https://dl.doubtnut.com/l/_UBbOdSMYC1qv


A. 5ltxlarr1

B. 

C. 

D. none

Answer: C

View Text Solution

−5 < x < 1

−5 < x < − 1

85. If the inequation  then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

√x2 − 18x + 72 < x − 1

ϕ

[1, 2)

[12, ∞)

(1, 2]

https://dl.doubtnut.com/l/_UBbOdSMYC1qv
https://dl.doubtnut.com/l/_1apbP8s1PJZK


86. IF  then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

√9x2 + 6x + 1 < (2 − x)

x ∈ ( + , )
3

2

1

4

x ∈ ( − , )
3

2

1

4

x ∈ [ − , )
3

2

1

4

x <
1

4

87. If the inequation  then x lies in

A. 

B. 

C. 

√(x + 2)(x − 5) > 8 − x

( , ∞)
74
36

[ , ∞)
74
13

( − , ∞)
74
13

https://dl.doubtnut.com/l/_1apbP8s1PJZK
https://dl.doubtnut.com/l/_1mVdi7rU5knH
https://dl.doubtnut.com/l/_tpgRkFdserPu


D. 

Answer: A

View Text Solution

[ − , ∞)
74
13

88. If the inequation  then

A. 

B. 

C. 

D. none

Answer: B

View Text Solution

≤
√6 + x − x2

x + 10

√(8 − 2x − x2)

2x + 9

2 ≤ x ≤ − 1

−2 ≤ x ≤ − 1

2 ≤ x ≤ , x = 3

89. if the inequation  , then x lies in≤
√8 − 2x − x2

x + 10

√(8 − 2x − x2)

2x + 9

https://dl.doubtnut.com/l/_tpgRkFdserPu
https://dl.doubtnut.com/l/_MSyb5nObDvDX
https://dl.doubtnut.com/l/_Q1lzMgPBgqvF


A. 

B. 

C. 

D. none

Answer: A

View Text Solution

[ − 4, 1] ∪ {2}

( − 4, 1] ∪ {2}

[ − 4, 1) ∪ {2}

90. if  is resolvable into two linear factors then k=

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + ky2 + x − y

−1

1

2

0

https://dl.doubtnut.com/l/_Q1lzMgPBgqvF
https://dl.doubtnut.com/l/_3jpyDRJQWuaD


91. If  is resolvable into two linear factors then k=

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

xy + 2x − 3y − k

−1

4

6

−5

92. IF  is resolvable into two linear factors then k=

A. 

B. 

C. 

x2 − y2 + 4x − 6y + k

−1

4

6

https://dl.doubtnut.com/l/_3jpyDRJQWuaD
https://dl.doubtnut.com/l/_uzQ2lT6c3uZg
https://dl.doubtnut.com/l/_74lvG2jOSJoY


D. 

Answer: D

Watch Video Solution

−5

93. IF  can be written as a product of two

linear factors , then c=

A. 2

B. 4

C. 6

D. 

Answer: D

Watch Video Solution

x2 + 4xy + 4y2 + 4x + cy + 3

8

https://dl.doubtnut.com/l/_74lvG2jOSJoY
https://dl.doubtnut.com/l/_tGpD4LXN2tDR


94. IF  can be resolvarble into two linear

factors then m=

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

12x2 − mxy + 3y2 − 5y2 − 2

±6

±3

±5

±7

95. IF  is resolvable into two linear

factors factors then k=

A. 2

B. 1

C. 0

122 − 10xy + 2y2 + 11x − 5y + k

https://dl.doubtnut.com/l/_EgmRjhqFc1rE
https://dl.doubtnut.com/l/_41HMwSpW8Uz1


D. 4

Answer: A

View Text Solution

96. IF  is resolvable into two linear

factors then k=

A. 2

B. 1

C. 3

D. 4

Answer: C

View Text Solution

3x2 + 8xy − ky2 + 29x − 3y + 18

https://dl.doubtnut.com/l/_41HMwSpW8Uz1
https://dl.doubtnut.com/l/_TqASWorjNnL1


97. IF  is resolvable into two linear

factors then m=of twp linear factors then the factors are

A. 7

B. 4

C. 2

D. 

Answer: C

View Text Solution

mx2 + 7xy − 3y2 + 4x + 7y + 2

−5

98. IF  can be written as the produ of two

linear factors then the factors are

A. 

B. 

C. 

4x2 + 4xy − ky2 − 12 − 2y + 8

(2x + 3y + 4)(3x + 5y + 2)

(3y + x + 9)(y − 3x − 2)

(2x + 3y − 4)(2x − y − 2)

https://dl.doubtnut.com/l/_AGRGBoohBnzP
https://dl.doubtnut.com/l/_1MdiZrNAvRHN


D. 

Answer: C

View Text Solution

(x − y + 4), (x − 2y + 5)

99. IF  is resolvable into two linear

factors then the factors are

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

3x2 + 8xy + 5y2 + 14x + 22y + 8

(2x + 3y + 4)(3x + 5y + 2)

(3y + x + 9)(y − 3x − 2)

(2x + 3y − 4)(2x − y − 2)

(x − y + 4), (x − 2y + 5)

https://dl.doubtnut.com/l/_1MdiZrNAvRHN
https://dl.doubtnut.com/l/_xZ8Hc9vXBtIR


100. Examine  is re-solvable into two

linear factors.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3y2 − 8xy − 3x2 − 29x + 3y − 18

(2x + 3y + 4)(3x + 5y + 2)

(3y + x + 9)(y − 3x − 2)

(2x + 3y − 4)(2x − y − 2)

(x − y + 4), (x − 2y + 5)

101. The coordition for  is

resolvable into two linear factors is

A. 

B. 

C. 

ax2 + 2cxy + by2 + 2by2 + 3bx + 2ay + c

a3 + b3 + c3 = 3abc

a3 + b3 + c3 = abc

a2 + b2 + c2ab + bc + ca

https://dl.doubtnut.com/l/_jJGKrXgOAw6A
https://dl.doubtnut.com/l/_xlK11rALxgZu


D. 

Answer: A

View Text Solution

a3 + b3 + c3 = 27abc

102. The condition for  can be resolved

into two linear factors is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3x2 + 2pxy + 2y2 + 2ax − 4y + 1

p2 + 4ap + a2 + 6 = 0

p2 + 4ap + a2 = 6

p2 + 4ap + 2a2 + 6 = 0

p2 + 4ap + 2a2 = 6

https://dl.doubtnut.com/l/_xlK11rALxgZu
https://dl.doubtnut.com/l/_8tpWTsuUR4Kw


103. If  is satified by real values of x nad y then y

must lies between

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + 4y2 − 8x + 12 = 0

2, 6

2, 5

−1, 1

−2, 1

104. If  is satified by real values of x nad y then y

must lies between

A. 

B. 

C. 

x2 + 4y2 − 8x + 12 = 0

2, 6

2, 5

−1, 1

https://dl.doubtnut.com/l/_yq9OnoUhxwXq
https://dl.doubtnut.com/l/_NXhaSuaU49t6


D. 

Answer: C

Watch Video Solution

−2, 1

105. Let f(x) be a polynomial for which the remainders when divided by

 respectively are  then the remainder of f(x)

when divided by  is

A. 

B. 

C. 

D. none

Answer: B

View Text Solution

x − 1, x − 2, x − 3 3, 7, 13

(x − 1)(x − 2)(x − 3)

f(x)

x2 + X + 1

x2 + 1

https://dl.doubtnut.com/l/_NXhaSuaU49t6
https://dl.doubtnut.com/l/_zXKP8ta8gEna
https://dl.doubtnut.com/l/_OisZQbKzXSAk


EXERCISE 2 ( SPECIAL TYPE QUESTIONOS ) ( SET -1)

106. Let two numbers have arthmetic mean 9 geometric mean 4. then

these numbers are the roots of the quadratic equation

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + 18x + 16 = 0

x2 − 18x − 16 = 0

x2 + 18x − 16 = 0

x2 − 18x + 16 = 0

1. I : If  where  are the roots of 

 then  


II : the value of  for which one root of the quadratic equation

(aα + b)2 + (aβ = b) − 2 = 1 α, β

ax2 + bx + c = 0 ac(ac + 2) = b2

' a'

https://dl.doubtnut.com/l/_OisZQbKzXSAk
https://dl.doubtnut.com/l/_6t3mdAVY2qq0


 is twice as large as the quadratic

equation

A. Only I is true

B. Only II is true

C. both I and II are true

D. niether I nor II true

Answer: A

View Text Solution

(a2 − 5a + 3)x2 + (3a − 1)x + 2 = 0

2. I: If  has equal roots then p,q,r

in A.P 

II : if the sum of the roots of  has equal to the sum of

the squares of their reciprocals then  is equal to

the sum of the squares of their reciproocals then  are in A.P

A. Only I is true

p(q − r)x2 + q(r − p)x + r(p − q) = 0

ax2 + bx + c = 0

bc2, ca2, + bx + c = 0

bc2, ca2, ab2

https://dl.doubtnut.com/l/_6t3mdAVY2qq0
https://dl.doubtnut.com/l/_W44Oe1JBK2DQ


B. Only II is true

C. both I and II are true

D. niether I nor II true

Answer: B

View Text Solution

3. I) The maximum value of  is  


II) The minimum value of  is  


Which of the above statements is true ?

A. Only I is true

B. Only II is true

C. both I and II are true

D. niether I nor II true

Answer: A

c + 2bx − x2 c + b2

x2 + 2bx + c c − b2

https://dl.doubtnut.com/l/_W44Oe1JBK2DQ
https://dl.doubtnut.com/l/_pxWaAy1IUYdL


EXERCISE 2 ( SPECIAL TYPE QUESTIONOS ) ( SET -2)

Watch Video Solution

4.  if 1 is a root of  . 


 if  are the of  


which of the following is true?

A.  is true  is true

B.  is true  is false

C.  is false ,  is ture

D.  is false  is false

Answer: A

View Text Solution

E1, a + b + c = 0 ax2 + bx + c = 0

E2 : b2 − a2 = 2ac sin θ cos θ ax2 + bx + c = 0

E1 E2

E1 E2

E1 E2

E1 E2

https://dl.doubtnut.com/l/_pxWaAy1IUYdL
https://dl.doubtnut.com/l/_TuBOX9Tcr44E


1. a,b,c  is a root of  is a root of 

 and  is a root of  then

A. A,B,C,D

B. B,D,C,A

C. A,C,B,D

D. D,B,A,C

Answer: B

Watch Video Solution

∈ Rα a2x2 + bx + c = 0β

a2x2 − bx − c = 0 γ a2x2 + 2bx + 2c = 0

2. if  are the sum of the roots of the roots of 

then the ascendinf order of A,B,C,D is

A. A,B,C,D

B. B,D,C,A

A, B, C, D

2x2 + x + 3 = 0, x2 − x + 2 = 0, 3x2 − 2x + 1 = 0, x2 − x − x + 1 = 0

https://dl.doubtnut.com/l/_gkqHABqYN4gH
https://dl.doubtnut.com/l/_Ac80g2vOC8HK


C. A,C,B,D

D. C,D,A,B

Answer: C

Watch Video Solution

3. IF A,B,C, are the minimum value of

 then the ascending order of

A,B,C is

A. A,B,C

B. B,C,A

C. C,A,B

D. A,C,B

Answer: B

Watch Video Solution

x2 − 8x + 17, 2x2 + 4x − 5, 3x2 − 7x + 1

https://dl.doubtnut.com/l/_Ac80g2vOC8HK
https://dl.doubtnut.com/l/_pLUsp92wgROE


EXERCISE 2 ( SPECIAL TYPE QUESTIONOS ) ( SET -3)

4. IF A,B,C are the maximum value of

 then the descending order of

A,B,C is

A. A,B,C

B. B,C,A

C. C,A,B

D. A,C,B

Answer: D

Watch Video Solution

2x + 5 − x2, x − 1 − 2x2, 5x + 2 − 3x2

https://dl.doubtnut.com/l/_pLUsp92wgROE
https://dl.doubtnut.com/l/_Q4kSt8PNGY6t


1. IF  are the roots of  then the match the following

A. c,d,a,b

B. d,c,b,a

C. d,a,b,c

D. c,b,a,c

Answer: C

Watch Video Solution

α, β ax2 + bx + c = 0

https://dl.doubtnut.com/l/_fTKETqlugkv5


2. Match the following 

A. a,c,d,b

B. d,c,b,a

C. b,c,d,a

D. c,d,a,c

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_GMkPytoDDOeT


3. match the following .

A. a,c,d,b

B. d,c,b,a

C. b,c,d,a

D. c,d,a,c

Answer: B

Watch Video Solution

4. Let  be the roots of the quadratic equation 

. Observe the lists given below: 

α and β ax2 + bx + c = 0

https://dl.doubtnut.com/l/_nDpgMsA4ZZHG
https://dl.doubtnut.com/l/_Ae8bZnkDTmzF


EXERCISE 2 ( SPECIAL TYPE QUESTIONOS ) ( SET -4)

 


Let correct match of List -I from List -II is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

I ii iii iv

E B D F

I ii iii iv

E B A D

I ii iii iv

E D B F

I ii iii iv

E B D A

1. A: The quadratic equation having roots  is  

R : the quadratic equation having roots  is 

3 ± 2I x2 − 6x + 13 = 0

α, β x2 − (α + β)x + αβ = 0

https://dl.doubtnut.com/l/_Ae8bZnkDTmzF
https://dl.doubtnut.com/l/_kHVbSYysKQh8


A. Both A are R are ture R is the correct explanation Of A

B. Both A are R are true but R is not correct explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: A

Watch Video Solution

2. A: the quadratic equation whose roots are the reciprocals of the roots

of  is  

R : the quadratic equation whose roots are the reciprocals of the roots of

the quadratic equation is f(1/x)=0

A. Both A are R are ture R is the correct explanation Of A

B. Both A are R are true but R is not correct explanation of A

C. A is true but R is false

D. A is false but R is true

3x2 − 7x + 2 = 0 3x2 + 7x + 2 = 0

f(x)

https://dl.doubtnut.com/l/_kHVbSYysKQh8
https://dl.doubtnut.com/l/_0qPg9evFMeSs


Answer: D

Watch Video Solution

3. A :  for all  

R : if the roots of  are imaginary then for

 and a have the same sign .

A. Both A are R are ture R is the correct explanation Of A

B. Both A are R are true but R is not correct explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: A

View Text Solution

x2 + x + 1 > 0 x ∈ R

ax2 + bx + c = 0

x ∈ R, ax2 + bx + c

https://dl.doubtnut.com/l/_0qPg9evFMeSs
https://dl.doubtnut.com/l/_CdH0i7jBc08e


4. A :  


R : if  are the roots of  ,  then 

 have opposite signs .

A. Both A are R are ture R is the correct explanation Of A

B. Both A are R are true but R is not correct explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: A

View Text Solution

x2 + x − 12 ≤ 0 ⇒ x ∈ [ − 4, 3]

α, β ax2 + bx + c = 0 α < β

α < x < β ⇔ ax2 + bx + c and a

https://dl.doubtnut.com/l/_Lv8oQIWpxZLW

